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Wednesday, October 12, 2005

‑‑‑ Upon commencing at 1:07 p.m.


MS. NOWINA:  Please be seated.  Good afternoon, everyone.  Today is the thirty-second day of the hearing of applications EB‑2005-0001 and EB‑2005‑0437 submitted by Enbridge Gas Distribution.  This afternoon we will continue examination of the panel on demand side management.  Are there any preliminary matters?


PRELIMINARY MATTERS:

MR. MILLAR:  I have one matter, Madam Chair.  This relates to the undertakings of confidentiality.  There appears to have been some confusion at the outset of the hearing between Board Staff and the company regarding who would be sending out the undertakings of confidentiality.


It had been my understanding - and I was mistaken and I take the blame for this, as I looked through the e‑mails to follow the paper trail on this - it had been my understanding that the company had actually sent out the Board's generic undertaking along with its undertakings between the companies.  I was mistaken in that, and I don't believe that generic undertaking had been widely distributed before.


 So what I'm proposing, and I spoke about this with my friend, Mr. O'Leary - and Mr. Shepherd was listening in on the conversation, as well - that we will now be distributing that generic undertaking.  Some parties have already signed it.  I propose to ‑‑ I was going to bring paper copies, but I see Mr. Shepherd is the only intervenor here today and he has already signed it, so I will send it out by e‑mail and ask that the parties return it directly to Board Staff and that will tie up that loose end.


As far as I know, there is only actually one document so far to which this undertaking applies, and that's the Exhibit, I believe it is, 31.1 or X31.1 from yesterday.  The rest of the confidential exhibits have been covered by the other undertakings, which specifically enumerate them.  


I don't think there is any harm done here, but to tie up that loose end I will be sending out that generic undertaking.


MS. NOWINA:  Just to clarify, Mr. Millar, would this undertaking cover the others, as well as the ‑‑ whatever understanding had been signed by Enbridge and the other parties, so both documents would cover the same confidential documents?


MR. MILLAR:  Yes.  By my reading, I think there is some redundancy in the documents, perhaps.  The generic Board undertaking simply states -- I do have it in front of me.  I won't read it, but it states that all documents that are released by the Board on a confidential basis are the subject of the undertaking.  


So in my interpretation, that actually does apply to all of the documents that have been released in confidence, though most of those are covered by an additional undertaking, as well.


MS. NOWINA:  So the documents in discussion yesterday were not covered by an additional document and that's why they are ‑‑ this undertaking is more important for those; is that correct?


MR. MILLAR:  That's right, because I don't believe the document that was released yesterday was actually enumerated in any of the other undertakings, so this would tidy that up.


MS. NOWINA:  Thank you, Mr. Millar.  Any comments, 

Mr. --


MR. SHEPHERD:  Madam Chair, the undertakings are actually inconsistent in one respect, and that is ‑‑ and they do both apply to all of the other documents, but they're inconsistent in the sense that the undertakings given directly to the disclosing parties require return of the documents to the disclosing parties; whereas the undertaking to the Board requires that if the Board requests, we return it to the Board.  


Those, of course, are inconsistent.  We can't return it to two different places, but I don't think anything turns on that right now.  


MS. NOWINA:  It would only be the undertaking to the Board that would be returned to the Board, is that correct, and the other documents would be returned to the other parties?


MR. SHEPHERD:  No.  Actually, I think because the undertaking that I signed yesterday applies to all documents, technically if the Board asks for the program agreement back, I have to give it to the Board even though under the undertaking to ABSU I've agreed to give it back to them.


MS. NOWINA:  Oh.  Mr. O'Leary, are you going to help us out here?


MR. O'LEARY:  I will attempt to, Madam Chair.  I understand what Mr. Shepherd is saying, in that if you read the generic undertaking, that there is to be delivery to the Board of copies provided to intervenors of confidential documents, but I think what Mr. Millar is saying is that the other undertakings, which are specific to those confidential documents of various parties that have been produced here, are intended to apply to those documents, and this undertaking is intended to apply for all other documents which are not specifically enumerated in those undertakings.


I don't see this as an inconsistency, in that if there is a request by another party for the return of those documents, then Mr. Shepherd won't be in a position to provide it to you.  So I really don't see it as being an issue, but, at the end of the day, if the Board did order that all non‑collected documents - in other words, documents have been requested by the other parties to be returned - if the Board asked for them to be returned, then he would have an obligation to return them.


MS. NOWINA:  Thank you, Mr. O'Leary.  I think that helps us out.


MR. O'LEARY:  The only other comment I might add is, in the event that there is a party, counsel or -- and presumably there will be none, but -- or a party or advisor that refuses to sign this undertaking, then I presume that the Board will make the company aware of that, or Board Staff and Board counsel make the company aware of that, and then we may request appropriate order or relief in respect of the treatment of that document which was distributed yesterday.


MS. NOWINA:  Mr. Millar, does that make sense?


MR. MILLAR:  I'm certainly hoping that doesn't happen, but in the event that does come to pass, I guess we will have to look at what our options would be.  We would work with the company to ensure the confidentiality of those documents.


MR. O'LEARY:  Thank you, Mr. Millar.  I just have a couple of preliminary matters.


MS. NOWINA:  Go ahead, Mr. O'Leary.


MR. O'LEARY:  They should be very brief.  The first is that in respect to the CWLP panel, there will be a fourth witness that will be participating as part of that panel, and it is a Mr. Boonstra of Enbridge Inc., and a CV will be circulated shortly.


The second matter is there has been a request as to the status of the updated GDAR evidence, and I am advised it should be available for distribution this afternoon.


Thirdly, the old expression "all best laid plans", in respect of the schedule, which we spent some time trying to finalize yesterday, we've identified that there is a problem with the Entrac panellist Jody Sarnovsky, who had quite gratuitously agreed to delay a planned trip to Africa and had put it off several times, and then was told of a particular date and has gone and made a commitment and incurred the cost.  She is unable to do the joint ‑‑ sorry, she is unable to participate at the end of the proceeding and, thus, the company is proposing to combine GDAR and Entrac, once again, and to deal with it and, therefore, have Ms. Sarnovsky present there.


I can tell you that the discussions continue in respect of Entrac and that the parties are reviewing the most up‑to‑date black-lined versions of a potential agreement, but obviously we don't have one to present to you at this point.


So it is possible, despite the combining of these two panels, that at the end of the proceeding it will be necessary to present a panel either ‑‑ hopefully to present a settlement agreement, but, if not, to deal with any final outstanding issue.  But that is the state of the time table as it presently stands, and trust that you would understand the situation that Ms. Sarnovsky is in and would hopefully allow her to participate -- I guess it is tomorrow or Friday.  Sarnovsky, I'm sorry, I'm pronouncing it incorrectly.


MS. NOWINA:  Thank you, Mr. O'Leary.  The Board Panel and Board Staff will look at the schedule one more time and our own schedule, as well, to see if there is anything further that can be done with our schedule to help out the situation.


MR. O'LEARY:  Thank you.


MS. NOWINA:  So I'm sure that Mr. Battista will talk to you about that.


MR. O'LEARY:  That's it, Madam Chair.  The panel is ready to be continued with their cross‑examination.


MS. NOWINA:  Mr. Shepherd?


MR. SHEPHERD:  Madam Chair, with respect to the CWLP panel next week, we haven't been advised of any evidence being filed by that panel.  I assume that the only written evidence that that panel is speaking to is the program agreement itself.  There is no direct evidence coming?  I wonder if the company could let us know that.


MS. NOWINA:  Mr. O'Leary?


MR. O'LEARY:  I have no information at this time to advise that there is any additional evidence coming forward.  There may be, but as soon as I have some information, Mr. Cass or I will certainly advise parties and the Board.


MS. NOWINA:  I might say that from the Board Panel's point of view, that we have heard a great deal about CWLP.  We have this document that intervenors wish to cross-examine now on, and that's fine.  I would really like to narrow the scope as much as possible of that discussion.


MR. O'LEARY:  Your comments are noted.

     MR. SHEPHERD:  Madam Chair, I see Mr. MacIntosh has joined me.  I was feeling a little outnumbered here and was going to ask the company have some of their players sit out for a little while, to make it fairer.
     MR. O'LEARY:  We probably would have a few volunteers, Madam Chair. 


ENBRIDGE GAS DISTRIBUTION INC. PANEL 21; RESUMED:


MICHAEL BROPHY; Previously Sworn


STEVEN POFF; Previously Sworn 


TOM JEDEMANN; Previously Sworn


NORMAN RYCKMAN; Previously Sworn 


SUSAN CLINESMITH; Previously Sworn

CONTINUED CROSS-EXAMINATION BY MR. SHEPHERD:
     MR. SHEPHERD:  Mr. Brophy, we were talking yesterday about the 2003 rules and got into a muddle, which was my fault, as I read the transcript and so I'm going to come back and try it a simpler way to get out how the 2003 rules work and would work in the future.  To do that, I want to just take you through a simple mathematical or a simple example and see if we can figure out how the 2003 rules result in TRC calculations.
     When you do your TRC budget, if you like, whenever you calculate it, when you do it, you have a number of variables you have to put in the mix; right?  One is number of participants; right?  You have a target number of participants for a particular program; right?
     MR. BROPHY:  Participants are used to assess the volume target, and I think yesterday we went through how that equates to a TRC target, but that is --
     MR. SHEPHERD:  I'm going to take you through that.
     MR. BROPHY:  A factor, yes.
     MR. SHEPHERD:  If you take the participants and you deduct the free-rider rate, you get a net participant number; right?  So if you have a free ridership of 10 percent and you expect to have 10,000 participants, then your net participants is 9,000; right?
     MR. BROPHY:  With the free-ridership rate I guess it could either apply that to a participant or you can apply it to the volume per participant.  It ends up having the same result.  It means that the company gets credit only for net of free ridership either way.
     MR. SHEPHERD:  It doesn't matter because it is all multiplication, right, so it doesn't matter where you put it in the multi place, does it?
     MR. BROPHY:  That's correct.
     MS. CLINESMITH:  Excuse me.
     [Witness panel confers]
     MR. BROPHY:  Oh, I'm sorry.  Ms. Clinesmith just pointed out that because we incur some costs on a 

per-participant basis, things liked fixed costs and other things that are per participant, that it may seem incorrect to discount the participants because then you may think, by inference, that you're discounting those costs to go out and reach those participants.
     MR. SHEPHERD:  No.  I know that the dollar figures are after you get your volume target.  You go to the m3 number and then you convert it into dollars and do the net dollars; right?  That's how the calculation works?
     MS. CLINESMITH:  Actually, if I may and please, Mr. Brophy, correct me if I'm wrong, but in the customs projects, because they are custom and not prescriptive, the volumetric assigned to any one participant has a very wide range.
     So discounting the participants could skew it.  We discount the volumes.
     MR. SHEPHERD:  Yes, I know I understand that.  But what we're talking about is the 2003 rules, which is primarily to do with the prescriptive programs; right?
     MS. CLINESMITH:  Excuse me, yes.
     MR. SHEPHERD:  I'm going to get to custom in a second but let's deal with the simpler part of it first.  I'm having enough trouble with this part.  Let's do this part first.
     So let's say we're going to have hypothetical widgets, which are -- widgets are a thing you put in peoples homes and they save energy, okay, they're wonderful little things.
     And so when you do your budget, you estimate how many participants you're going to have.  You have a plan for how many participants you think you can get in that particular widget program.  You can then assess what your free ridership is going to be and get a net participant number.  So if you say –- your widgets, you're going to have 10,000 participants in 2006; right?  Then you take -- if you assume you have a 10 percent free ridership then you would have 9,000 participants, right?  It's not complicated.
     MR. BROPHY:  I will work through that example.  I would really like to apply the free-ridership rate to the volume saving rather than the participant, but you know I think you're trying to simplify something so I will go along.
     MR. SHEPHERD:  You want to apply it to the annual unit savings?
     MR. BROPHY:  Yes.
     MR. SHEPHERD:  Let's do it that way.  So 10,000 participants.  Now, you have 100 percent attribution on most of -- one of your variables is participants; right?  Then the second one is attribution and for most of your programs you have 100 percent attribution; right?
     MR. BROPHY:  If our current portfolio, yes.
     MR. SHEPHERD:  So let's assume you have 100 percent attribution, which means your total participants for that program in your budget is 10,000; that’s right?  That's what you're aiming for.
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  Then do you have to estimate your unit savings, how many cubic metres you're going to save for each participants in a year, right, it's an annual figure.
     MR. BROPHY:  That's estimated based on I guess the theoretical widget you're putting in.
     MR. SHEPHERD:  That's right.  So you say a widget saves 200 cubic metres every time you put it in, every year, it saves 200 cubic metres; right?  For example.
     MR. BROPHY:  If that's the assumption, yes.
     MR. SHEPHERD:  So then -- but you're saying that you take your free ridership and you apply it to that 200?  You don't apply it to the number of participants; you apply it to the savings.
     MR. BROPHY:  Yes.  So if you assume that it was 200 cubic metres that was saved, and you had a 10 percent free ridership then you would take 20 off of that, you'd be left with a net per participant of 180.
     MR. SHEPHERD:  But it doesn't matter whether you apply it to the participants or the unit savings, it's the same result; right?
     MR. BROPHY:  For the m3 savings, I believe mathematically it would work out to the same.
     MR. SHEPHERD:  Exactly.  So whatever way you do it, at the end of the day you have a volume number for those 10,000 participants, 180 net savings each of 1.8 million 

M-cubed per year; right?
     MR. BROPHY:  Subject to check.  I don't think I brought my calculator.  But I believe so.
     MR. SHEPHERD:  180 times 10,000.  1.8 million.  Will you accept that subject to check?
     MR. BROPHY:  Yes, I will.
     MR. SHEPHERD:  Okay.  So we were talking about the difference between volume target and TRC.  That number is the volume target for that program; right?
     MR. BROPHY:  That would be the volume target for that program, yes.
     MR. SHEPHERD:  All right.  So then once you've got the volume target, you have to do two things.  First of all, you have to extend it over the measure life; right?  Because it doesn't just save energy for one year, it saves energy for a number of years; right?
     MR. BROPHY:  You'd have a measure life for that widget, yes.
     MR. SHEPHERD:  Let's say the widget is 10 years, so then you take your 1.8 million and you multiply it by 10 to get 18 million cubic metres; right?
     MR. BROPHY:  That's simple math but you discount it.
     MR. SHEPHERD:  Okay.  You discount it because savings ten years from now aren't as valuable as today; right?
     MR. BROPHY:  They're worthless, they're just as valuable, but they're worthless in today's dollars.
     MR. SHEPHERD:  That's right.  Exactly.  Time value of money.  Then you take that total, whatever it is, and you multiply it by your avoided gas cost to get your gross TRC benefit; right?
     MR. BROPHY:  Yes.  We would take the avoided gas costs over that time horizon and we would apply it to those volumes saved and we would discount it over the measured life to bring you to what the value would be today.       

MR. SHEPHERD:  Okay.  So then you have a dollar figure that's your gross TRC benefit but you have to deduct two things from that.  You have to deduct how much does the customer spend, right, to put this widget in.
     MR. BROPHY:  That would be the -- you would take the incremental costs that the customer spends.  So the customer may be -- it's hard to say in the widget realm, but if they were needed to buy a widget anyways but just not one that was --
     MR. SHEPHERD:  High-efficiency widget.
     MR. BROPHY:  Oh, a high-efficiency widget.  Then you would take the incremental costs that they would have been spent versus the cost to go to the high efficiency widget and that's the cost you subtract.
     MR. SHEPHERD:  So you take that times your number of participants; right?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  Now, do you reduce your number of participants for your free riders?  Your customer costs can't include the customer costs for the free riders; right?
     MR. BROPHY:  Again, I don't think we applied the free ridership to the participants, but I believe it is done on an apples-to-apples basis.
     [Witness panel confers]
     MR. RYCKMAN:  To the best of my knowledge, it picks up to full costs.  So if you've got ten customers out there at a 10 percent free-ridership rate, you have a cost associated with those 10 customers of which you're claiming the benefits for 90 percent of those.
     MR. SHEPHERD:  That's not fair, is it?  Why would you deduct the costs for the free riders?
     MR. BROPHY:  I would need to go back into the actual model.  I didn't realize we were going to get into kind of cell-by-cell calculation of the program, but I can check that if you would like.
     MR. SHEPHERD:  Okay, thanks.  Anyway you deduct that.  Then you get a total and you have to deduct from that your program costs; right?
     MR. BROPHY:  We would subtract program costs at the end as well, yes.
     MR. SHEPHERD:  So you would get a net TRC benefits for the program, right, for that, the widget program you get a net.  That's your budget; right?
     MR. BROPHY:  Roughly.
     MR. SHEPHERD:  That's your -- that would be if you add them all up for all of your programs, that's your pivot point; right?

MR. BROPHY:  Roughly speaking on a -- if you were to do it on an individual program basis, that would be correct.


MR. SHEPHERD:  And then the last part of the calculation is you take all of those totals, all those net TRCs, and you deduct your overheads for all of your programs; right?


MR. BROPHY:  Any of the costs related to those that weren't included in the program costs you've already subtracted, then you would subtract those at that time.


MR. SHEPHERD:  And that net number, that is your budget pivot point; right?  That's your target pivot point, if you like?  That's where you're going.


MR. BROPHY:  That's mathematically how you would calculate that.


MR. SHEPHERD:  Okay.  Now, we heard yesterday that you don't actually calculate that before the year; right?  For 2006, you haven't calculated it yet.  You don't know what you're going for, really.


MR. BROPHY:  We don't have a pivot point for 2006.


MR. SHEPHERD:  No, but if you had the same rules, and in the normal case ‑‑ okay.  For 2003, you didn't have a number before 2003 was over that you were managing to; right?  You managed to the volume number, which is way up the calculation; right?


MR. BROPHY:  We had an agreement, as outlined in the settlement agreement, that gave a volumetric target of 72.5 million.  That was the target.


Then I think I explained this, as well, but that was roughly estimated at the time of about $130 million in TRC ‑‑ net TRC benefits, but it was recognized by, I believe, almost all parties that there were other assumptions agreed to and the company would go back and recalculate that.  


So that recalculation was done at the end of the year.


MR. SHEPHERD:  I understand.  My question is a simpler one.  During the year, during 2003, for example, when you're managing your DSM program, you didn't have a target of 130 million.  You had a target of 72.5 million m3;right?


MR. BROPHY:  Our target was 72.5 million.


MR. SHEPHERD:  And that doesn't directly translate into dollars, because, as we've seen, there is a whole bunch of other assumptions to get to dollars; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  So when you manage -- I guess I don't understand why you would manage to a volume figure that doesn't drive your profits.  Your profits are driven by your TRC figure.  Why didn't you manage to that?


MR. BROPHY:  Historically, we've been dealing with the pivot-point mechanism, and I think I've indicated that one of the major problems with a pivot-point mechanism is that it drives short-term results, and it had so much controversy and time spent not just in, say, settlement conferences or consultatives, but, you know, on a regular basis, in discussions, that it really caused a lot of time to be spent around a volume target.


And I agree it probably makes more sense to have a percent of net TRC for an incentive, where, you know, we acknowledge that it's TRC benefits that are the benefits coming to society.  We used a cubic metre target as a surrogate for that in the past and equated it, because it was -- with all of the complexity of the pivot point, it helped to at least partially simplify some of that debate that went on every single year.


MR. SHEPHERD:  But the problem you're talking about is a problem with having a target; right?  It's not a problem with having a dollar target.  It's a problem with having any target; right?


MR. BROPHY:  It would be a problem with any target, but it was particularly complex when you had to go and take assumptions and equate that into TRC dollars, and there was a possibility that those assumptions, somebody could come later and suggest that they should change after the fact.


So that went away with the 2003 rules, but I think, as you're aware, we've had problems before those rules were in place with what was intended to be done up front.


MR. SHEPHERD:  Well, because there's a whole lot of different factors in this calculation, right, and each one of these components of the calculation, if it changes, could affect your dollar figure at the end; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  But then you're still proposing to this Board that TRC, with all of those components, be used for your SSM; right?


MR. BROPHY:  We're proposing net TRC as the basis for our incentive mechanism, yes.


MR. SHEPHERD:  So if that's the case, then don't you still have the same problem?  All of those assumptions are still in play each time?


MR. BROPHY:  I believe that those assumptions, given the prospective rules that have been in place now since 2003 - and I believe the same set of rules were used for electric LDCs - that a lot of those problems do go away, because you're setting those rules up front.


And I take comfort, actually, in -- when I reviewed the Board's TRC manual, that many of those assumptions that we've been working on and haven't changed year on year since 2003, were taken into account recently when that Board document was released.  


So I believe it shows that some of those are still current and wouldn't change over short periods of time.


MR. SHEPHERD:  So your new proposal doesn't get rid of the complexity of the TRC calculation, does it?  That's still there?


MR. BROPHY:  There's still math behind the TRC calculation that does take time to calculate, yes.


MR. SHEPHERD:  So the only difference is, under your new proposal, you have only an actual figure.  You don't have a target figure; right?


MR. BROPHY:  The incentive proposal from the company does not have a target figure, that's correct.


MR. SHEPHERD:  Well, and you don't need a target figure anymore, right, because the only reason you used the target was to calculate the incentive; right?


MR. BROPHY:  There were two areas where having a volumetric savings estimate was still relevant.


MR. SHEPHERD:  Sorry, let me just stop you.  We're talking about the TRC target now.  Forget the volume.  We're just talking about the dollar figure.  The only reason you needed the dollar figure was for SSM, right, the budget?


MR. BROPHY:  The company never had a TRC ‑‑ never used the TRC figure as its target, so ‑‑ but I would agree with you that we wouldn't be using that as a target figure going forward, as well.


MR. SHEPHERD:  All right.  The reason is because your new SSM isn't an increment over a goal or over a pivot point.  It's simply a straight percentage of all the TRC; right?


MR. BROPHY:  I believe that's correct.


MR. SHEPHERD:  So you still have to calculate the TRC, so you still have all of those complexities, but it's the 2003 rules that make that calculation simpler, right, because they fix a whole lot of the assumptions; true?


MR. BROPHY:  2003 rules don’t change the complexity around doing the math to calculate a TRC number.


What it does is it takes away a lot of the uncertainty and complexity around things like the auditing and the whole process after the year, where parties may come forward and say, you know, you're done the year and you have your results, but we don't think you should get credit for them the way you thought when you set out to get those results to go and change those rules.


So it doesn't change the math that would have to be done for TRC, but it removes a lot of the uncertainties in the assumptions after the year is complete.


MR. SHEPHERD:  And it does that by fixing many of those variances, many of those factors in the calculation.  It fixes them in advance so that when you calculate your actuals, you don't actually look for what actuals you're producing.  You only look for what assumed actuals you're producing; right?


So, for example, in free riders, the 2003 rules say that in calculating your actuals, you use your originally assumed free-rider rate regardless of whether it's true; right?


MR. BROPHY:  That's generally the case, yes.


MR. SHEPHERD:  So if you assumed 10 percent going in, then even if subsequent evidence shows that your free ridership was 50 percent, in calculating your actuals you use 10 percent; right? 


MR. BROPHY:  I believe that those rules are in place to provide some certainty to the company.


MR. SHEPHERD:  Okay, sorry, sorry, Mr. Brophy.  First answer the question.  Then go on to the explanation, please.


MR. BROPHY:  I know of a recent example ‑‑ and I believe you were on the audit committee.  I didn't sit on that audit committee, but I understand you were a member of that ‑‑ where we have the 2002 results, which the Board has now accepted and cleared the LRAM and SSM to.  And heading into that year, the free-ridership rate for custom projects was 10 percent.


That amount was recently cleared and it was a recommendation from the audit sub-committee to the company that, because in 2003 we changed it to 30 percent instead of 10 percent, and that research was being done in 2002 but wasn't available until the 2003 rule, they made a recommendation to the company that we apply the 30 percent free-ridership rate to the company, and we subsequently accepted that.


So although the intention is to lock those rules in and that's very helpful and provides clarity, the company has been willing, if there's information that comes available in the year that clearly indicates that it should be changing something, then it already has shown that it's willing to endorse those values.
     MR. SHEPHERD:  Well, okay, Mr. Brophy.  Look, that's 2002.  The 2003 rules applied in 2003 and thereafter; right?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  And in 2003 and thereafter, the rule is simple:  If you assumed a particular free-ridership rate, that's the rate for actuals; right?
     MR. BROPHY:  That's the intention, yes.
     MR. SHEPHERD:  And are you telling us, telling this Board now that if it turns out that one of your free-rider assumptions is not correct, that you will use the correct number for actuals in the future despite the 2003 rules?
     MR. BROPHY:  Our intention is not every year, but from time to time to do a free-ridership study.  And if, for example, we were to do that this year - which I don't believe we need to this year - and it came out with a different number within this year, then I would look at that information and determine whether or not it was relevant for coming back to the Board once the year was done to say whether or not we should be applying that.  The rules right now --
     MR. SHEPHERD:  Sorry.  Applying that prospectively?
     MR. BROPHY:  Well, generally --
     MR. SHEPHERD:  Only.
     MR. BROPHY:  -- it’s applied prospectively.  But the company would talk to the consultative and stakeholders to get opinions on if it became available in that year, whether or not we should look at that gray area and decide to apply it to this year or not.
     MR. SHEPHERD:  Let's use a specific example.  Right now, you're in the middle of your 2004 audit; right?
     MR. BROPHY:  It has begun, yes.
     MR. SHEPHERD:  Sorry?
     MR. BROPHY:  The '04 audit has begun, yes.
     MR. SHEPHERD:  Has been done?
     MR. BROPHY:  It has begun.
     MR. SHEPHERD:  That audit applies the 2003 rules that you're proposing to continue; right?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  And if you find, with information today, that in 2004, your widgets didn't save as much gas as you thought or had - let's use free riders - had more free riders than you expected, you expected that they would be 20 percent, it turned out they were 50 percent, are you telling the Board today that you will go back and you will fix 2004 so that your actuals are really actual?  Even though the 2003 rules say you use the original assumption?
     MR. BROPHY:  I would have to take a look at what the audit committee and the audit -- auditor's report recommended and the reasons for that.  But generally speaking, I don't believe that we should be going back retrospectively and making those changes unless there is a really good reason to do so.
     MR. SHEPHERD:  So for things like free riders, you should calculate the actuals based on the original assumptions, regardless of whether those are really the actuals, even if you have better information.
     MR. RYCKMAN:  This was a topic of much discussion in the 2003 rate case where we spent many days in the hearing room and this issue on whether changes such as free ridership should be on a prospective basis or retroactive basis.  And the Board ruled at that time that it wasn't appropriate to apply them on a retroactive basis.
     One of the things that you get into, we heard from Mr. Poch yesterday about free-ridership rate of 8 versus 90 percent or whatever that number was, and he agreed that that was just one person's opinion on what that should be.
     There's nothing to substantiate that.  If the company knew, for instance, that that free ridership of 90 percent was going to be applied for that program year, it likely wouldn't have done that program.  So you would actually change the behaviours of the company if you know that in advance.  So it's not appropriate to go back and penalize the company for that with a pivot point situation, also, that can be used to make the difference between an incentive or no incentive.  So that's a critical point.  

     On the proposed incentive mechanism, I think there is much more flexibility for that, because it's not the difference of zero versus something.  It's an adjustment to whatever that appropriate proportion of sharing is.
     MR. SHEPHERD:  What you're currently asking for is that the 2003 rules be approved for 2006; correct?  That's one of the approvals you're asking for.
     MR. BROPHY:  Yes.  The ones -- we went down the list, so the ones that were appropriate or are applicable, we're asking that they be --
     MR. SHEPHERD:  Let's just ask for these variables, free riders fixed set your budget amount even if you have better information later.  That's one of the 2003 rules; right?
     MR. BROPHY:  I believe that I already answered that question in stating that that's the intention of the rules.
     However, if, through the auditor report and the audit process there is good reasons to the company to suggest that we should be looking at something different, then we would consider that.
     MR. SHEPHERD:  Prospectively.  Prospectively.
     MR. BROPHY:  Prospectively.
     MR. SHEPHERD:  Yes, thank you.
     MR. BROPHY:  For clearing that year.
     MR. SHEPHERD:  When you calculate the actuals after the year, after the year is out, for a year that's already finished, free riders are fixed at the original budget amount; right?  That's what the 2003 rules currently say;  yes?
     MR. BROPHY:  That's generally the case.
     MR. SHEPHERD:  Okay.  Attribution is fixed at the original amount.  Yes?
     MR. BROPHY:  That's the case, yes.
     MR. SHEPHERD:  Annual unit savings is fixed at the original amount?  For prescriptive programs.
     MR. BROPHY:  For prescriptive programs, you would generally use those amounts locked-in up front, but there are -- there is a possibility that the auditor -- and I can give you again examples where the company has looked at things from –- oh, I guess Steam Saver is a business market.
     MR. SHEPHERD:  It's not a prescriptive program; right?  In fact, what I'm asking you is what the 2003 rules say.  What they say is, that's fixed; right?  Annual units savings, fixed; right?
     MR. BROPHY:  That's the intention, yes.
     MR. SHEPHERD:  Measure life, fixed; right?
     MR. BROPHY:  The measure life's are generally fixed, yes.
     MR. SHEPHERD:  Avoided gas costs, fixed.
     MR. BROPHY:  Avoided gas costs are always fixed.  


MR. SHEPHERD:  Customer costs; fixed?
     MR. BROPHY:  In a prescriptive program --
     MR. SHEPHERD:  Yes.
     MR. BROPHY:  -- generally those are fixed as well.
     MR. SHEPHERD:  All right.  So the only two variables that you have, the ones that -- when you calculate your actuals, the only things that are not the same as your budget are the number of participants and your program costs; right?  Is there anything else that is a variable that has changed from budget to actual?
     MR. BROPHY:  I believe that we indicated earlier -- and it was around some of the prescriptive programs we discussed with Mr. Poch and Mr. Neme's appendix B -- that there's potential for electricity savings in some of those prescriptive programs, that the company intends to pursue in its programs, because they're saved through those types of programs, but that those benefits may be attributed to electric LDCs.  So there is some flexibility there.
     It's clearly the intention of the company to claim the benefits from its programs, but in cases where electric LDCs come in, as the example I gave for Ottawa Hydro, we're not intending to double-count those.  So there is some flexibility in the way the company claims those.
     MR. SHEPHERD:  Mr. Brophy, how does that have anything to do with my question?  I asked you a simple question.  The 2003 rules, what variables are in the 2003 rules that change for budget to actual?
     MR. BROPHY:  Your question was looking at the prescriptive savings that we put forward in advance, and I believe what you were asking is:  Are those the exact numbers that we would use in '06 to ‘08 in calculating actuals?
     MR. SHEPHERD:  I'm asking you a simple question.  You have a number of variables in calculating TRC.
     We understand that some of them are fixed before the year starts.  There are only two, isn't this correct, there is only two, number of participants and program costs, that you actually take the actual numbers for the year in calculating in your TRC; isn't that correct?
     MR. BROPHY:  I believe your statement that participants and savings being the only variables that we use after the fact that reflect actual amounts, I don't believe that is correct.
     All of the assumptions that the company uses in its filings are reflective of research and the latest available information that it has on actuals.
     So what those are meant to do is reflect actuals.  So basically all of those variables are meant to reflect actuals.
     MR. SHEPHERD:  That's not what the 2003 rules say, does it?
     MR. BROPHY:  I don't believe the 2003 rules say that the prescriptive program assumptions are not meant to reflect actuals.  I think, in fact, they do reflect actuals.
All the 2003 rules say is, don't come after the fact and change the rules so that penalizing the company after the fact if it does what it was asked to do based on the prospective setting of those rules.


MR. SHEPHERD:  So I'm looking at page 69 of Exhibit K31.2.  Can you look at that, please?


MR. BROPHY:  I have that.


MR. SHEPHERD:  I'm looking at the fifth bullet where it says:  

"For prescriptive programs actual TRC benefits will be calculated using the budget of values for annual unit savings for measures, measured life times, customer incremental costs and free rider rates."


MR. BROPHY:  That's what that says, yes.


MR. SHEPHERD:  So the 2003 rules say that if you have information that shows that those budget figures are wrong, you ignore that in calculating your actuals; isn't that correct?


MR. BROPHY:  Can you repeat the question?


MR. SHEPHERD:  If you have information that shows that the budget values for any of those variables are wrong, under the 2003 rules, you ignore that in calculating your actuals; isn't that right?


MR. BROPHY:  The company uses the values that are in the plan, and if there's research that happens after that suggests that we should update some of those assumptions, then that's done prospectively, although we have made some exceptions based on recommendations from the audit committee to do that in the year that it occurs.


MR. SHEPHERD:  Okay.


MS. NOWINA:  Mr. Shepherd, I hope you don't mind if I ask a question.  I just know that by the time we get to Board Panel questions, it will be another day, and I ‑‑


MR. SHEPHERD:  I can use all the help I can get.


MS. NOWINA:  You might not see it as help, but I just want to clarify this item.


The paragraph on page 69 that Mr. Shepherd just took you to, Mr. Brophy, doesn't mention attribution.


You -- when Mr. Shepherd was asking you the question, I think it was specifically using the 2003 rules, the only variables in actual are number of customers and EGD's costs.


You gave the example of when you were doing a program with an LDC, that the attribution may be partly for the electric LDC and partly for EGD.


So are you saying, if that becomes clarified during the year, that your assumptions going in are 50/50 attribution, but later you and the LDC in question decide it's a 60/40 attribution?  I don't care which way it goes.  Will you correct that at the end of the year for the actuals?  Will it show the attribution that was later decided on?


MR. BROPHY:  If we have a program where the benefits are split between us and an electric LDC, it makes sense for us to take the portion of incremental costs related to the savings we're claiming and for the other party to take the percent of the incremental costs related to the energy that they're claiming.


So we intend to use that ratio when we come forward with the actuals.  So I'm happy that you asked the question, because when Mr. Shepherd was asking me about locking in the costs, it slipped my mind, and even though I mentioned it yesterday and possibly Thursday, that that's our intention, we've already stated that we're going to use the portion related to the benefits that we're claiming.


MS. NOWINA:  So the attribution of the costs will be dependent on that ratio, and the benefits, as well?


MR. BROPHY:  That's correct.


MS. NOWINA:  And that may change during the year, even though you budgeted for certain attribution?


MR. BROPHY:  I'm sure it will, yes.


MS. NOWINA:  Thank you.


MR. SHEPHERD:  Okay.  Let me just follow up with that.  So if you have a program that you're planning right now and you're assuming it's going to be 50/50 attribution between you and an electric utility partner, let's say, that's built into your plan right now.  It's built into your budget and everything.  But it turns out, as the year goes on, that really they're doing more work on it than you are and really the fair attribution would be 70/30.  Are you telling us that when you calculate the actuals at the end of the year, you will calculate it 70/30 for the electric?


MR. BROPHY:  When we ‑‑ again, this is what we're planning to do subject to what the Board's direction is, but the company is hopeful that we can go and negotiate agreements with electric LDCs to partner with them on delivering programs and they will get some benefits from those programs.  Enbridge will get benefits from those programs.


The pivot-point mechanism, at least historically, assumes that you've locked‑in certain benefits for Enbridge.  So we have, for instance, electrical benefits from the DC variable speed motor program that links with the high efficiency gas furnace program.  And if you were to look at the TRC estimate right now, it includes those savings.


It's very likely -- and we have already been approached by electric LDCs that see that as a great program and want to partner with us and try to enhance that program.  It is likely that Enbridge will not be claiming all of those benefits, 100 percent of the electricity benefits, from all of the DC variable speed motors if it is successful in growing those partnerships.


So that's another reason why the pivot-point mechanism is very misleading where you're setting something upfront, where the percent of TRC -- net TRC, sorry, allows you to develop those relationships and agreements through the year, and we'll come forward with what our share of those benefits are when we report our actuals.


MS. NOWINA:  Mr. Brophy, with respect, I'm not ‑‑ that may have ‑‑ I thought I had a clear answer to my question and that may have confused me a little.


Can I use a hypothetical case -- or maybe it isn't hypothetical.  Maybe you can give me a real case.


Do your projections now -- your estimates that you have in this case, do they include some of these LDCs' programs and some projection of what the allocation will be, what the split will be between Enbridge and the utility ‑‑ and the LDC?


MR. BROPHY:  The information used to calculate the estimated TRC benefits in the plan do not include what those attributions would be, because we don't ‑‑ we haven't negotiated those agreements.  We don't know what those numbers are going to be until we're in the year.


But the company has stated that we will use -- in our actuals, we will apply ‑‑ if the Board approves us going forward and partnering in the manner we're proposing, we will include the agreed-upon split between us and the LDCs we're partnering with.


MR. RYCKMAN:  I think one of the things to consider, as well, as we move forward with this type of initiative, if we're to look at the DC variable motor as an example, if we've got an understanding of what those benefits are and we're entering discussions with an electric LDC, one of the things that Mr. Brophy said over the last couple of days was that we would enter into a partnership agreement with them, and those issues of attribution would be fleshed out and agreed upon by the parties entering into that.


If after we've gone out and actually delivered that type of activity, then intervenors or other people come forward and say, No, we disagree with the savings that are associated with that, that could put the LDC and Enbridge at risk.  


So that's why it's important to lock some of these assumptions in.  The other thing is that the energy savings associated with a DC variable motor aren't necessarily changing dramatically year over year, in a material manner.  So it doesn't make sense to necessarily go back and create that risky environment in an area where those changes may not be significant to begin with and, again, the parties have agreed to the attribution up front.


MR. SHEPHERD:  Are there any ‑‑ 


MR. SOMMERVILLE:  Can I ask a clarifying question?  


MR. SHEPHERD:  Sure.


MR. SOMMERVILLE:  If I understand that answer, Mr. Ryckman, it's to the effect that once you have agreed with the electricity LDC on an allocation split --


MR. RYCKMAN:  Yes.


MR. SOMMERVILLE:  -- that's the end of it.


MR. RYCKMAN:  Yes.


MR. SOMMERVILLE:  That’s what you're going to go with.  No matter what the experience during the course of the year going forward might be, whether you contribute more or they contribute more, you seek certainty in that contractual arrangement and the allocation that occurs within it; is that right?


MR. RYCKMAN:  Yes.  And so what I'm referring to is retroactive changes.  That's not to say we would ignore new information going into the future necessarily.  I think 

we have demonstrated that, we've been reasonable on that front, even with the table that's in Mr. Neme's evidence we've gone through and we've agreed that certain changes are reasonable to take place.
     So I think we've demonstrated that, you know, we do consider new information on a go-forward basis.  It's not appropriate to go back and apply that retroactively.
     MR. SHEPHERD:  I just have two final questions on this.
     MS. NOWINA:  I'm sorry, Mr. Shepherd.  Go ahead.
     MR. SHEPHERD:  I have just one clarifying question.  The $158 million TRC estimate, does it include any programs that are attributed less than 100 percent to EGD?
     MR. BROPHY:  No, it doesn't.
     MR. SHEPHERD:  So attribution isn't a problem this year, because everything is attributed 100 percent.  The only attribution you're going to have is in electricity going forward; right?
     MR. BROPHY:  I don't believe it will be a problem with electrical -- electricity, as I think we have proposed a mechanism that is clear and transparent to work that out.
     MR. SHEPHERD:  Okay.  Then my last question on this area, on the 2003 rules is:  Is it correct, then, for this Board to assume that the actual TRC benefits that you calculate for any given year are not really the actual TRC benefits that you generated during the year.  They're an approximation using assumptions that may or may not be correct, with the best available current information.  Is that true?
     MR. BROPHY:  We did an exercise in one of the recent audits, where we took the TRC benefits for SSM purposes and then there were a few minor adjustments done -- as I think you know -- to apply some things for some LRAM purposes.  And there wasn't a big difference between those amounts.  There were still significant benefits in both cases for ratepayers.
     MR. SHEPHERD:  Well, okay, so let's actually turn to that.  I wasn't going to turn to it, but since you mentioned it, why not.  Can you look at K27.1, please.   Do you have that, Mr. Brophy?
     MR. BROPHY:  Yes, I have that.
     MR. SHEPHERD:  That's the document you're referring to, isn't it?
     MR. BROPHY:  Yes.  That's one exercise that demonstrates that, yes.
     MR. SHEPHERD:  If I can simplify this, if you look at the second page of that document, you see that there's -- right at the bottom, there's a TRC NPV in millions of dollars under the column “SSM case.”  That's the actual number you used in calculating your SSM; right?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  Then the next column over to the right is a figure 119.7 million, and what's happened is, Mr. Millyard, working for the company, on retainer to the company, has calculated, if you use the LRAM numbers for volumes and converted it into TRC, the TRC would actually only be 119.7 million; right?
     MR. BROPHY:  That was intended to represent -- there were some discussions on adjustments within the audit committee, as I understand, where some members of the audit committee thought that some further adjustments should be made after the SSM TRC should be applied.
     So when you apply those adjustments, Mr. Millyard took two sets he took an A scenario and B scenario, went away and crunched the numbers and that's what's represented here.
     MR. SHEPHERD:  The LRAM case, whether you use the A or B, they're not that much different, but whether you use A or B, the LRAM case represents -- it's closer to the actual savings, isn't it?  Because it incorporates a bunch of updated information that you didn't have at the time you did your planning for 2003; right?
     MR. BROPHY:  I believe it's in the range of what the actual savings are, yes.
     MR. SHEPHERD:  Okay.  Will you accept, subject to check, that the result was that your SSM for 2003 was $1.1 million higher, because of the 2003 rules?
     MR. BROPHY:  I'm sorry, I don't have my calculator, but I don't --
     MR. SHEPHERD:  It's in the range, isn't it?  The difference is about 6 million TRC, and some of that was at 18 percent and some of that was at 15 percent; right?
     MR. BROPHY:  So that, because of the declining step, the incremental TRC is always at the lower, the last tier, because it is declining the way the 2003 SSM was.  The more you do, the less you get of each increment.  So it would be what that last increment is times that amount.
     MR. SHEPHERD:  Well, no.  It wouldn't actually, would it?  Because this takes you down so that you're all within the first increment; isn't that correct?
     MR. BROPHY:  Yes.  So the company would have received its SSM within the first increment, which is the highest percent.  But then once you move out of that into the next increment, it's the lower percentage that you're applying.
     MR. SHEPHERD:  Why don't we simplify this.  Will you undertake to calculate the SSM based on 119.7 million TRC in 2003 under the rules in place at that time?
     MR. BROPHY:  I can do that, yes.
     MR. SHEPHERD:  Thanks a lot.
     MS. NOWINA:  Mr. Battista.
     MR. BATTISTA:  That will be Undertaking J32.1.
     UNDERTAKING NO. J32.1:  calculate SSM based on 119.7

million TRC in 2003 under the rules in place at that

time
     MR. SHEPHERD:  Now, you proposed to apply the 2003 rules to the test year, but you wouldn't apply the budget portion of them, because there is no pivot point any more; right?  You would only be applying them to the calculation of the actuals in the 2006 year; right?
     MR. BROPHY:  We would use the 2003 rules and apply them to the actuals, that's correct.
     MR. SHEPHERD:  So you have a set of assumptions already in place for these variables, that would be used in 2007 when you come to do the audit for 2006.  In 2007, you would use those figures for these variables that are fixed in the 2006 rules; right?
     MR. BROPHY:  We come forward with those lists of assumptions as we have done in this rate case, and where there's suggestions that they should change, as Mr. Neme has done, we've made a few adjustments.
     MR. SHEPHERD:  That's not my question.  Sorry.  

     When you're doing your audit, you're calculating your SSM for 2006, under your proposal you're going to take the TRC amount you're going to multiply it by 5 percent and you're going to say to the Board in 2007 or 2008 whenever you get to it:  Can we please have this money?  

     To calculate the TRC number, you're going to use the figures you filed now for all of these variables; right?
     MR. BROPHY:  With the exception of what we talked with Madam Chair about.  Yes.
     MR. SHEPHERD:  But other than that, all these other ones, you're going to use the numbers you have now it doesn't matter what new information you have; right?
     MR. BROPHY:  That's the intention.
     MR. SHEPHERD:  Okay, thank you.  I want to turn to the LRAM.  Remember we went through your approvals you're asking for.  One of them is a continuation of the existing LRAM rules; right?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  We already heard, when we were talking about the volume target, we agreed that you bake into rates a certain volume of DSM adjustment, reduction; right?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  And the way you do that is you take the -- you take what is called the fully-effective number which is the annual savings from the programs you anticipate implementing, and then you calculate how much of that you will get during the test year when each of those programs is incremental.  You're feeding them in month by month so you're not getting a full year's saving for all of them; right?
     MR. BROPHY:  It's partially-affected volumes that get put into the –-


MR. SHEPHERD:  That transition amount, that how much are you going to get during the test year as you're bringing the programs on, is called the partially-effective volumes; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  And that's the number that is the basis of LRAM; correct?


MR. BROPHY:  Again, the LRAM is the mechanism to take what was put into the rate year that's coming forward in volumes, and then take the actuals and do a comparison between.  So really it's a true‑up after the fact, because I don't think anybody would propose that they could know exactly the cubic metres of gas you're going to save in 2006.  You have an idea, but it may be more; it may be less.


So the LRAMs, the mechanism to true that up, I know historically for companies like Union Gas, they used to not put any impacts of DSM in, and the LRAM used to be the entire impact of the programs, but I believe that most people are just using it as a true‑up now.


 MR. SHEPHERD:  So you do a calculation, then, on a program-by-program basis at the outset?  Like, you've already done for 2006 a calculation, right, of when measures are going to be introduced and how much each month you're going to lose in volume; right?


MR. BROPHY:  The fully effective or annual amounts are developed program by program, but then we would generally take a look at the trend of when things come on and use that to inform how we would come up with an appropriate partially effective volume.


MR. SHEPHERD:  So, for example, some things like commercial programs often happen late in the year.  You work all year and finally you get them closed towards the end of the year; right?


MR. BROPHY:  Yes.  There is an increase in some programs at certain times of the year, such as September, October, because you're getting into the heating season and, you know, it's a driver for people to move on things that you proposed to them that they aren't willing to go during summer vacation to necessarily do.


MR. SHEPHERD:  Okay.  So you've done this calculation, or the company somewhere has done this calculation of how many cubic metres in each category is assumed for 2006, right, partially effective?  It must have been done, because you've got a rate proposal; right?


MR. BROPHY:  What was the last part, sorry?  I didn't ‑‑


MR. SHEPHERD:  You've already done the DSM adjustment for 2006, right, because you have to do it in order to do a rate proposal; right?


MR. BROPHY:  We've put an amount into the model that was meant to estimate what the impact of 2006 DSM would be on our volume results.


MR. SHEPHERD:  So there is a calculation somewhere of the partially effective volumes for 2006; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  Is that in the evidence somewhere?


MR. BROPHY:  I believe that Ms. Chan provided an IR response that includes that number.  I don't have it handy, but ‑‑


MR. SHEPHERD:  I'm not asking for the number.  I'm asking for the calculation, the spreadsheet that shows how you got there.


MR. BROPHY:  I don't believe it is.


MR. SHEPHERD:  Will you undertake to file that, then?


MR. BROPHY:  I can provide that, yes.


MR. SHEPHERD:  Okay.


MR. BATTISTA:  That will be undertaking J32.2.

UNDERTAKING NO. J32.2:  TO PROVIDE CALCULATION FOR PARTIALLY-EFFECTIVE VOLUMES FOR 2006

MR. SHEPHERD:  Now, then what happens is that you do that at the beginning, when you do your rate case, you have this calculation, and then at the end of the process, when you're calculating your LRAM, you do the actuals; right?  You say, Okay, how much did we ‑‑ when did we actually introduce all of these measures and how much did we actually lose in m3 during the year; right?


MR. BROPHY:  We take the real profile and apply that.


MR. SHEPHERD:  Okay.  And so you do basically the same spreadsheet again, but using actuals; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  Okay.  Then you compare the two and you apply an assumed distribution margin for each category to get a dollar figure; right?


MR. BROPHY:  We take the distribution margin.


MR. SHEPHERD:  Where does the distribution margin figure come from?


MR. BROPHY:  It comes from our rates approved.


MR. SHEPHERD:  But is it an actual, or is it a budget figure?


MR. BROPHY:  What the distribution margin ‑‑ so if you do more -- are more successful than you thought you would be in a year, so you've only put a certain amount of volume decrease into the model, and say you save another 10 million cubic metres above that, so now you have less volumes than what was approved by the Board to recover those costs.


So you're going to get less money, because you have a rate approved and you have less volumes you have going through the system.


So what you would then do is, you would take those volumes and apply it to the distribution margin, which is meant to keep the company whole from the lost distribution margin that would occur from not getting those volumes.


We've already talked about some other impacts to the company, but that is the intent of the LRAM.


MR. SHEPHERD:  I'm going to ask you to ‑‑ I'm going to file three documents, and I think these have been provided to Board Staff.  The first one is headed up 2003 "LRAM Partially-Effective Volume Assumptions" dated August 9th.

MR. MILLAR:  Mr. Shepherd, which ‑‑ I'm not sure that we have the documents to which you're referring.


MR. SHEPHERD:  No?  I think I gave those to you yesterday, but I will give you some more.


MS. NOWINA:  While Mr. Shepherd is doing that, maybe I could make a request of the witness panel.  This is not particularly to help Mr. Shepherd out, but it would help me if, when he asked a question, you answer the question directly first, and then offer the explanation.


Sometimes you give the answer at the end of the explanation, and I'm having a hard time keeping track of what specifically the answer to the question was.


MR. BROPHY:  We'll attempt to do that.


MS. NOWINA:  Thank you very much.


MR. SHEPHERD:  My apologies.  I planned to give them to Board Staff yesterday and failed.  So the first one is dated August 9th.  


MR. BATTISTA:  That will be Exhibit K32.1, 2003 LRAM budget assumption ‑‑ budget volume assumptions.

EXHIBIT NO. K32.1:  2003 LRAM BUDGET VOLUME ASSUMPTIONS


MR. SHEPHERD:  The second one is entitled "2003 LRAM Budget Volumes".


MR. BATTISTA:  Sorry.  First one -- sorry, the first one is dated August 5th on the right-hand bottom.


MR. SHEPHERD:  Sorry, okay.  Different order.


MR. BATTISTA:  I've got it mixed up.


MR. SHEPHERD:  The first one dated August 5th is which?


MR. BATTISTA:  Is the 2003 LRAM budget volumes, all right.  Then the next one you mentioned is -- what's the header on it?


MR. SHEPHERD:  Okay.  So the next one would then be 2003 LRAM partially-effective volume assumptions, which is a multiple-page document.


MR. BATTISTA:  That will be K32.2.

EXHIBIT NO. K32.2:  2003 LRAM PARTIALLY-EFFECTIVE VOLUME ASSUMPTIONS

MR. SHEPHERD:  Then the third one is the smaller spreadsheet, 2003 post-audit LRAM calculation.


MR. BATTISTA:  That will be K32.3.


EXHIBIT NO. K32.3:  2003 POST-AUDIT LRAM CALCULATION

MS. NOWINA:  Mr. Shepherd, the witness panel has had these documents?


MR. SHEPHERD:  These are actually their documents.


MS. NOWINA:  Thank you.


MR. BROPHY:  I don't believe that I have seen some of these documents, so I guess when we walk through them ‑‑


MS. NOWINA:  You can clarify that as we go through them.


MR. SHEPHERD:  All right.  So, Mr. Brophy, the audit of your DSM results didn't traditionally include an audit of the LRAM, did it?  


MR. BROPHY:  The findings from the auditor report and the audit sub-committee then led to calculating the LRAM, but I don't believe that a lot of time was spent in the audits on the LRAMs previously.


MR. SHEPHERD:  Okay.  In the 2003 audit, the audit committee asked to look at the LRAM calculation; correct?


MR. BROPHY:  I believe so.


MR. SHEPHERD:  That was the first time that had happened?


MR. BROPHY:  I'm not sure whether it's the first time, or not.


MR. SHEPHERD:  You don't know of a previous time that that has happened?


MR. BROPHY:  I've never been a member of those committees, so I can't really say if that is the first time or not.


MR. SHEPHERD:  You attended all but one of the audit committee meetings for 2003, didn't you?


MR. BROPHY:  I would have to check my records.  I attended as many as I could.


MR. SHEPHERD:  All right.  In the 2003 audit, there were several attempts at producing the LRAM calculations showing different numbers; isn't that correct?


MR. BROPHY:  I believe that's true, yes.


MR. SHEPHERD:  And, in fact, the final number of $500,000 due to the ratepayers is quite far from the first estimate produced by the company; right?  The first estimate was that the ratepayers had to pay the company; right?

     MR. BROPHY:  I think there were some estimates done throughout the process that varied from the $502,000, yes.
     MR. SHEPHERD:  It's a simple question.  Isn't the first estimate -- remember that I was in the meeting, Mr. Brophy.  Mr. DeRose, who is listening on the Internet was in the meeting, and Mr. Neme who is probably also listening on the Internet, and it's true, isn't it that the first estimate was the ratepayers had to pay the company an amount for LRAM; isn't that true?
     MR. BROPHY:  I think there was a quick calculation done, and it looked like there was going to be a rebate to the company, yes.
     MR. SHEPHERD:  Okay.  Now, I want you to go to this document K32.2.  Do you have that?
     MR. BROPHY:  That's the one entitled:  2003 LRAM Partially-Effective Volume Assumptions.
     MR. SHEPHERD:  That's right.
     MR. BROPHY:  Yes, I have that.
     MR. SHEPHERD:  Am I right that this is the underlying calculation to the document you filed -- I'm trying to find the exhibit number.  It's 30 point something, just a second.  The document 2003 post audit LRAM calculation.  Do you know that document, Mr. Brophy?
     MR. BROPHY:  Is that the one that equals the $502,000?
     MR. SHEPHERD:  Yes.
     MR. BROPHY:  I think it is K30.1, if I'm not mistaken.
     MR. SHEPHERD:  K30.1, that's right.  This document, K32.2, that's the underlying calculations for that; right?
     MR. BROPHY:  When I was saying earlier I haven't had a chance to go through these, this was the one that jumped to me that I'm not familiar with.
     So it looks perhaps that this might have been a document circulated to the audit subcommittee and I'm not saying that I may not have been copied.  I may have.  But it's just not looking familiar to me, but I will accept, if you're saying that this was what it was based on, that that's correct.
     MR. SHEPHERD:  Just look at the second page of K32.2, you will see at the top right, you will see the number 90,409,287.  That's the fully-effective budget volumes for LRAM?  

     MR. BROPHY:  That looks correct yes.
     MR. SHEPHERD:  Similarly, the figure just a little below it, 34,891,368, that's the partially-effective.
     MR. BROPHY:  That looks correct.
     MR. SHEPHERD:  That's for the final calculation; right?
     MR. BROPHY:  Those were the initial numbers that were put into rates.
     MR. SHEPHERD:  Similarly, if we go to the fourth page of this document, we see, see numbers -- sorry, the fifth page, we see numbers of 74,857 and change, and 29,974 and change.  Those are the actuals; right?
     MR. BROPHY:  Yes.  Those match what are on the K30.1, yes.
     MR. SHEPHERD:  Okay.  And so what you do -- I'm going to look at K30.1 -- what you do is you compare the partially-effective budget and actual, and you get a net delta, right, a net increment or detriment; correct?  
     MR. BROPHY:  Yes.  The LRAM’s the difference between the partially-effective budget versus the actual.
     MR. SHEPHERD:  Then you multiply by the distribution margin, which you say from your rates group, to get the dollar figure for the LRAM; correct?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  Okay.  So just to give you an example, let's look at the line that says industrial.  Your fully effective -- your industrial programs actually weren't as successful as you planned because you planned 30.3 million  m3, but you only got 25.6 million; right?  26.6 million; right?
     MR. BROPHY:  Yes, that number is lower than what was assumed in the budget number, yes.
     MR. SHEPHERD:  Right.  But the partially-effective numbers actually went up, presumably that's because you implemented them earlier in the year, on average; right?
     MR. BROPHY:  That would be the case, yes.
     MR. SHEPHERD:  So even though the program was less successful, you actually lost more m-cubes during the year and as a result the ratepayers owed you a little bit of money for that; right?
     MR. BROPHY:  Based on industrial programs alone, in that year, that's correct.
     MR. SHEPHERD:  Okay.  Now I just want you to turn to K32.3.  That last one was dated August 9th.  This one is dated August 4th.
     This shows completely different numbers.  All the numbers are completely different.  Why is that?
     MR. BROPHY:  Again, I tried to attend as many of those meetings as I could, but I wasn't at every single one but I can give you my understanding of that.
     MR. SHEPHERD:  Sure, sure.
     MR. BROPHY:  As you know, the company's been attempting to catch up on the audits and clearing of accounts, which I believe all of the intervenors were trying to persuade us to do and help us, where possible.
     And so the 2003 audit, because we hadn't finished the 2002 audit until just recently, started I believe after the filing was done.  And so it was in a fairly compressed time frame.  So if you look at the date of August 4th, I believe that spreadsheet that provides the 209,000 was something that was pulled together overnight.  There was an audit committee meeting that happened on the 3rd, I believe.  And that there was a request, I believe it was Mr. Shepherd had indicated that he wasn't going to participate in anything else in the audit unless he got some numbers on the LRAM.
     So what this was doing is this was just a quick back of the envelope -- not back of the envelope.  It was done in a spreadsheet, to give an estimate of what we thought that number was.  But what I can say about the audit process is, I'm a little surprised that documents from an audit committee are being brought in front of the Board, when that whole process is meant to be an iterative process that then comes out with a final recommendation that the company can then accept and bring forward to the Board.
     So it appears Mr. Shepherd's suggesting that we were proposing $209,000 LRAM to the Board, when it really was $502,000.  That's not the case.
     So there have been many iterations done over that process, similar to the SSM calculations.  I think you were involved in that, where there is probably many more than what this was and I think the magnitude of that, when we had Mr. Millyard go away and run those, was even greater than this.  But what we're really interested in, from that audit subcommittee is their final recommendations with the numbers behind that.  That's really what I was looking for.
     MR. SHEPHERD:  I'm not suggesting you did something wrong, Mr. Brophy, at all.
     What I'm trying to get at is whether there's sufficient discipline in the LRAM calculation.  It's true, isn't it, that you produced a calculation and five days later produced a very different one and, by the way, the August 4th one was already way different from the first one; right?
     MR. BROPHY:  There were several calculations done throughout the process with input from the audit committee, and they varied each time, that's correct.
     MR. SHEPHERD:  So I'm going to ask you to file, to undertake to file the spreadsheet that backs-up the K32.3.  Can you do that?
     MR. BROPHY:  I would say we can do that, but what I would like to ask is, these amounts have been settled, have been approved by intervenors and the consultative and approved by the Board.  And really it's not even an issue any more, as far as this case is concerned, is my understanding.
     So certainly I can do that, but I really don't understand why we would be taking the time to go back through issues that have already been resolved.
     MR. SHEPHERD:  Madam Chair, I sat on this audit committee, and I actually made the motion to approve the LRAM number.  And I have no problem with the LRAM number.  It's right or it is as right as we'll get it.  

But the company is asking to approve the same approach to calculate LRAM for 2006.  And my client is concerned that the LRAM calculation, the way it's done, has insufficient discipline and we wish to propose, in our argument, that the Board impose tighter controls over that.  That's what I'm driving at here.  This is only an example.


MR. O'LEARY:  Madam Chair, if I may, Mr. Brophy has indicated that the August 4th was done very quickly, and the question I would have and would ask the Board to consider, in terms of entertaining Mr. Brophy's request, as I interpret it, that you not order the production of the spreadsheet -- the question is:  What is its evidentiary value?  


Mr. Brophy has said it was preliminary.  It was not intended to be the final one.  It's going to be the subject of discussions and there were further iterations.


Our submission is, Madam Chair, that it won't go to what Mr. Shepherd's looking to do.  It was clear that part of the discipline that was being exercised was this was going to go to the committee, there were going to be further iterations and, therefore, the one that Mr. Shepherd is asking is not "the" spreadsheet which was ultimately relied upon by the company to settle this matter.


MS. NOWINA:  Mr. Shepherd?


MR. SHEPHERD:  The current rules, with respect to the audit committee, are that the audit committee does not look at the LRAM.  If you look at the protocols for the audit committee, it's not in there.


It only got in there this year because some of us ‑ not just me, but others ‑ asked enough questions that we had to be shown the calculation.


So I think it is legitimate for us to ask:  Why is there a difference between the various numbers, and is it appropriate to ensure that this number, which can be big in some years, has some rules attached to it, so that the Board can be confident, when it gets the number, that it is right?


MS. NOWINA:  There is clearly a difference between the two numbers in the documents that we already have in front of us.  Would having the calculation add something to our knowledge of the process?


MR. SHEPHERD:  Yes.  I believe what it will show is that the original calculation does not appear to have been done using actual numbers, because it doesn't have similarity to the final actuals.


You can't have a situation in which you say X amount came in, in September, and then five days later say, No, that's not the right number for September.  It is what it is.  This was in 2005, looking at 2003 data.  So the data is what it is.


So the calculation will demonstrate that this is not about a formula.  This is about the raw data and changing the raw data over five days to get to a different number.


MR. BROPHY:  I believe I have already indicated that those numbers were pulled together very quickly and there wasn't time to go through and check all of those numbers.  So we're not saying that that was the number that we would have brought forward through that process.  It was merely to give a ballpark for discussion, for the audit committee, so that we could then have the time to go back and go through those numbers more carefully.


So I believe the appropriate ones to look at would be the background for what we actually did agree upon and have filed and cleared through the Board.


MS. NOWINA:  Given Mr. Shepherd's explanation of his concern regarding the process, does the company have a problem with filing the undertaking?


MR. BROPHY:  Mr. Shepherd is on ‑‑ wasn't just on the 2003 audit sub-committee, but is actually on the 2004 audit sub-committee.  And Mr. Shepherd has pointed out that the protocol for the audit committee didn't explicitly include LRAM, but he has already indicated that the company supported the inclusion of a discussion in those audit committees by providing this type of information, having the discussion to eventually get to an end point that allowed us to all agree upon a number to be filed.


So I don't believe there is anything new that calculations behind a previous version of an LRAM that was put together quickly is going to help support in that regard.  I don't understand it.


MR. RYCKMAN:  I would have thought that the time for those discussions would have been when the audit committee was meeting, and it sounds to me as if Mr. Shepherd is implying that there wasn't rigour in the process; yet it was discussed with the audit sub-committee, and he's also indicated it is the right number and is a signatory to the settlement agreement.  So I'm at a bit of a loss to understand how there is a lack of rigour in this process.


MS. NOWINA:  Well, I guess that is Mr. Shepherd's case to make.


MR. O'LEARY:  And the concern, Madam Chair, is that if he's going to make that case, we won't have an ability to respond to it, because if the document is produced and Mr. Brophy has indicated that it's not "the reliable document", because it was done at the last minute; like in so many other ways there are changes to the initial documents that are presented to the audit committee, that it will come out in this proceeding as a response to an undertaking and the company won't have the ability to have witnesses explain what it is that makes it, other than what you heard today, unreliable.


So our position is, Madam Chair, the document is just of no evidentiary value.  It doesn't prove that there is a problem with the LRAM which needs fixing.  In fact, what Mr. Ryckman said is our submission is correct.  In the end, the result is that we have a number which all parties bought into; therefore, the system works.


MS. NOWINA:  I'll go back to you, Mr. Shepherd, and then I might ask Mr. Millar for his opinion.


MR. SHEPHERD:  Everything that the company and its witnesses have said go to weight.  So our view is, unless there is some reason why this shouldn't be filed, they should file it, and then in their argument say it's worthless.


MS. NOWINA:  Mr. Millar?


MR. MILLAR:  Madam Chair, I'm not sure I have much to add.  You've heard the arguments of Mr. O'Leary and Mr. Shepherd.  I guess the test is the relevance and whether or not these calculations would be of assistance to the Board in making its decision.


Quite frankly, partially because of my inexperience in these matters, I'm not sure I can come to that conclusion in my own head.  So I'm not sure I can add too much to what you have heard from the parties.


[The Board confers]


MR. MILLAR:  Sorry.  Nothing more to add.


MS. NOWINA:  Mr. O'Leary, panel, it doesn't appear that this is a document that is difficult to produce, that it's available.  The relevance we can determine when we see it.  The Board Panel will weigh its relevance when we see it and when Mr. Shepherd makes his arguments.


I don't see why this would be a great difficulty for the company to produce and we would appreciate it if you could produce it.


MR. O'LEARY:  Thank you, Madam Chair.


MR. BATTISTA:  That will be undertaking J32.3.

UNDERTAKING NO. J32.3:  TO PROVIDE SPREADSHEET BEHIND EXHIBIT K32.3

MR. SHEPHERD:  Madam Chair, was the panel planning to go right through to 4 o'clock or to take a break?


MS. NOWINA:  Oh, Mr. Shepherd, I think we were planning to take a break as usual.  Is now a good time?


MR. SHEPHERD:  It's a good time.


MS. NOWINA:  Why don't we take a break until ten minutes to 3:00?


‑‑‑ Recess taken at 2:35 p.m.

     --- On resuming at 3:00 p.m.
     MS. NOWINA:  Please be seated.  

Before we begin again, the board had just one small preliminary matter.
     PRELIMINARY MATTERS:
     MS. NOWINA:  Mr. O'Leary, I recognize Mr. Cass I think is counsel on this issue, on CWLP program agreement panel.
     Could you tell Mr. Cass that, if there is any direct testimony that that panel plans on giving, that the Board would like copies and intervenors get copies of that in advance to expedite that day?
     MR. O'LEARY:  I will certainly pass that along, Madam Chair.  

If we're still on preliminary matters, I do have a copy of the GDAR deferral account updated evidence, which I spoke to earlier today.  It has been distributed to the, several intervenors that are here.  It will be distributed electronically this afternoon as well, and copies have been given to Mr. Battista, if I could request an exhibit number for it.
     MS. NOWINA:  We will do that.
     MR. BATTISTA:  That will be Exhibit K32.4.
     EXHIBIT NO. K32.4:  GDAR deferral account updated

evidence
     MR. O'LEARY:  We have some extra copies we will leave at the back of the room as well.
     MS. NOWINA:  Thank you, Mr. O'Leary.  Anything else, Mr. O'Leary?
     MR. O'LEARY:  No, Madam Chair.
     MS. NOWINA:  Mr. Shepherd.
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CONTINUED CROSS-EXAMINATION BY MR. SHEPHERD:
     MR. SHEPHERD:  Thank you, Madam Chair.  

Let's turn to SSM, Mr. Brophy.  You have a number of pieces of evidence on that, and we've gone through it at some length, so I just want to sort of cut to the chase on this.
     Your new SSM - tell me whether this is correct - your new SSM does two things:  First of all, on any range of scenarios it would give you an overall increase in your SSM on average relative to the old one; right?
     MR. BROPHY:  I think at the lower range, that is probably right.  I haven't done the math.  There may be some crossover point at some point where it is actually less, you know, at some couple hundred percent or something like that.
     MR. SHEPHERD:  Would you accept, subject to check, that is 450 percent of your estimate?
     MR. BROPHY:  I could accept that subject to check, yes.
     MR. SHEPHERD:  But so that's the first thing is it gives you a much higher SSM.  The second thing is that it shifts the focus of your SSM and you get more with lower performance and less with higher performance; is that right?
     MR. BROPHY:  Actually, I might have been confused by your previous question.  You're saying that they kind of match up.  The 5 percent and existing -- not existing but the old mechanism match-up at about 450 percent?  And I don't believe that's actually true, because I think – and it sounds like maybe you have done this math, but it sounds like you are inserting some sort of a pivot point in there to come up with that calculation.
     So you could put a pivot point in that calculation that would have those two points come together at 50 percent, or 100 percent.  It's really an arbitrary point to make that math work, because there is no pivot point that has been proposed in this rate case.  So I just wanted to make that clear.
     MR. SHEPHERD:  Okay, that's fine.  In fact, you can't compare the existing method and the proposed method unless you have an assumed pivot point, can you?
     MR. BROPHY:  I believe that's correct, yes.
     MR. SHEPHERD:  Okay.  But then you never have a pivot point in your rate case, do you?  You never calculate the pivot point until later, do you?
     MR. BROPHY:  Well, there always is a pivot point.  The actual numbers of that are calculated for the final time once the audit is done, but there generally is a pivot point.  

MR. SHEPHERD:  Well, no.  You know what, we talked about the 2003 "pivot point" of 130 million, and you were very clear that that wasn't a pivot point, weren't you?
     MR. BROPHY:  I believe that what I indicated is, you kept referring to a term which I hadn't heard before but you were saying “TRC target” over and over again.  And what I was suggesting is that the term "TRC target" wasn't appropriate.  I don't believe I have ever stated that we didn't have a pivot point previously.
     MR. SHEPHERD:  Okay.  So in 2003, in your rate case filed in 2002 or filed actually early in 2003, I guess, the 130 million that we saw in the settlement agreement, that was actually a pivot point; right?  That was the early calculation of the pivot point.
     MR. BROPHY:  Yes.  That was the estimate of the pivot point.
     MR. SHEPHERD:  Okay.  And you have an estimate for this year, right, which is 158 million.  Now that's not a pivot point, but it is your estimate of the TRC benefits for the test year, isn't it?
     MR. BROPHY:  Again, that's meant to provide the Board some comfort, that if we were very successful with all of the components of the plan, as put forward, that we believe that it's possible to reach that kind of value, yes.
     MS. NOWINA:  Mr. Brophy, does that mean it is, or is not an estimate of the TRC benefits for the test year? 
     MR. BROPHY:  I don't believe that -- that's an estimate of what we think we can do in the test year.
     MS. NOWINA:  Thank you.  That's an estimate.
     MR. SHEPHERD:  I would like to, then, file a calculation which has been provided to Board Staff and I think the panel has had this since last week sometime, the witnesses and the company.
     I wonder if I can get an exhibit number for that.  That's comparison of existing and proposed SSM mechanisms.
     MR. BATTISTA:  That will be Exhibit K32.5, and it will be characterized as "comparison of existing and proposed SSM mechanisms."
     EXHIBIT NO. K32.5:  comparison of existing and 

proposed SSM mechanisms
     MR. SHEPHERD:  Now, Mr. Brophy, you've seen this document; right?
     MR. BROPHY:  I have a copy of what I believe you handed out, yes.
     MR. SHEPHERD:  Okay.  Now, you've made clear that you don't have a pivot point estimated for the test year; correct?
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  But it is also true that you can't compare the existing and proposed methods unless you assume some pivot point; right?  You just said that.
     MR. BROPHY:  Yes.  You can't do a mathematical calculation unless you assume a pivot point.
     MR. SHEPHERD:  Okay.  So on this document, the pivot point that's assumed is the estimate that you've provided to the Board, 158 million and change.  Do you see that?
     MR. BROPHY:  I see that.
     MR. SHEPHERD:  Okay.  Will you accept that, if you assume that pivot point, that the first page of Exhibit K32.5 correctly calculates the SSM under the existing and proposed methods under those various scenarios cited.
     MR. BROPHY:  It appears to do that, yes.
     MR. SHEPHERD:  Okay.  Will you accept, subject to check, that for every scenario from 10 percent performance to 200 percent performance, the proposed SSM is higher than the existing SSM.
     MR. BROPHY:  Using your assumptions, that's the way it appears, yes.
     MR. SHEPHERD:  Will you accept, subject to check, that no matter what pivot point you use over that set of percentages, 10 percent to 200 percent of the pivot point, the proposed SSM will always be higher.  Will you accept that?
     MR. BROPHY:  I think I got lost.  Can you repeat the question, please.
     MR. SHEPHERD:  No matter what pivot point you use, the proposed SSM will always be higher than the existing SSM over any scenario up to 200 percent; correct?
     MR. BROPHY:  I believe that -- and maybe I misunderstood your question.  But if you were to set a pivot point at, say, 10 million of TRC benefits, then I'm not sure if that math works out but I would need a few minutes to think about it.
     MR. SHEPHERD:  I'm going to put it to you that it doesn't matter what your pivot point is, because of the nature of the calculation, the crossover is always going to be roughly 450 percent of the pivot point, whatever it is.  I'm going to ask you to undertake to advise the Board if that is not correct.  You can do the calculation.
     MR. BROPHY:  Yes, I could do that.  Sure.
     MS. NOWINA:  Thank you.
     MR. O'LEARY:  Madam Chair, may I inquire, just for the purposes of satisfying the undertaking, are we to use the percentages that the company -- that exist in the SSM formula, that exist to this date?


In other words, the declining schedules ‑‑ or the declining percentages, are they the figures that Mr. Shepherd is suggesting should be included in this analysis?


MS. NOWINA:  Mr. Shepherd?


MR. SHEPHERD:  Madam Chair, there is an existing Board‑approved SSM which has certain percentages in it.  That's the existing line.  The proposed is the 5 percent that the company has proposed.  


MR. O'LEARY:  All right.  I understand.


MS. NOWINA:  Is that clear?  I would let the witness panel know that if you accept Mr. Shepherd's calculations, subject to check, we don't need an undertaking.  You can still check them and come back if you've got a problem with them.  Then we could avoid the need for an undertaking.  Does that work for everyone?


MR. SHEPHERD:  That's fine.


MR. BROPHY:  I believe so.


MR. SHEPHERD:  And, Mr. Brophy, will you confirm or will you accept, subject to check, that over the range of these values, 10 percent of pivot point to 200 percent of pivot point, that in order for the average of those scenarios to be equal between existing and proposed, the proposed would have to be at 2.85 percent, not 5 percent?  Will you accept that subject to check?


MR. BROPHY:  I'm sorry.  I was ‑‑ I'm still trying to ‑‑ because I did accept it subject to check, but I just am ‑‑ was trying to do some math just to try and see if that was correct.  And it's looking like it is not actually correct, what we just agreed to, subject to check.


MR. SHEPHERD:  What, the 450 percent crossover?


MR. BROPHY:  Yes.  So, if I can walk you through an example that I am just doing on the fly that leads me to believe that, would you like me to do that?


MR. SHEPHERD:  Sure.


MR. BROPHY:  So let's assume for a minute that we had a pivot point of $10 million of net TRC.


MR. SHEPHERD:  Yes.


MR. BROPHY:  And that the company achieved $20 million of net TRC.  Under a 5 percent of TRC, you would have $20 million times 0.05; that's $1 million.


MR. SHEPHERD:  Okay.


MR. BROPHY:  Under the old range of SSM ‑‑ and I'm just simplifying, so let's just use the first range of 18 percent, although I know it decreases.  So you've exceeded the pivot point by 10 million and you're making 18 percent on that.


MR. SHEPHERD:  No, you're making 18 percent on 1 million; isn't that right?


MR. BROPHY:  No.  So the pivot point was 10 million and you have achieved 20 million, so the increment ‑‑ you have over-achieved by 10 million.


MR. SHEPHERD:  Yes.


MR. BROPHY:  Then using 18 percent, you would actually get 1.8 million.


MR. SHEPHERD:  But that's not the formula, is it?  The formula is, on the first 10 percent over the pivot point, you get 18 percent, and then you get 15 percent, and then you get 12 percent all the way down; right?  


MR. BROPHY:  Yes.  But if we even used the lower ‑‑ obviously, I don't have a chance to go through the detailed math here.  But let's just use, like, a lower amount, 12 percent, not the 18 percent that we start at, to calculate the SSM using the old manner.  You would still end up with 1.2 million in that scenario where you would only get 1 million using the 5 percent of TRC.


So it doesn't look like that math does work, with all ranges of the pivot points.


MR. SHEPHERD:  I put it to you that in that example, the SSM under the existing is 780,000 as compared to your 1 million under your example.  


MS. NOWINA:  Mr. Shepherd, perhaps we should go with the undertaking.


MR. SHEPHERD:  Maybe.


MS. NOWINA:  Why don't we do that, Mr. Battista?


MR. BATTISTA:  That will be undertaking J32.4  Perhaps we should characterize it as ‑‑


MR. SHEPHERD:  ‑‑ example of crossover other than 450 percent.


MR. BATTISTA:  Thank you.

UNDERTAKING NO. J32.4:  TO PROVIDE AN EXAMPLE OF CROSSOVER OTHER THAN 450 PERCENT

MR. BROPHY:  I apologize for that.  I could do the math, but I wasn't aware that this was going to come up.


MS. NOWINA:  We don't expect you to do math on the spot, Mr. Brophy.  That's not one of the requirements of a witness.


MR. SHEPHERD:  Madam Chair, this is actually my fault.  I should probably have advised Mr. Brophy in advance I was going to ask that question, because it's a pattern math question.  So once you know the pattern, it doesn't matter what your numbers are.  You're going to get the same pattern.  But he will check it and find out.


MS. NOWINA:  Yes.  


MR. SHEPHERD:  Let me get on to the next question, though.  In these various scenarios ‑‑ now, this example is a series of scenarios from 10 percent to 200 percent; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  In these various scenarios, you can average what the SSM is under the existing and the proposed methodology; right?


MR. BROPHY:  You can calculate it.  I'm not sure what you mean by average, but ‑‑


MR. SHEPHERD:  In fact, the average for the proposed is always going to be 7.9 million.  It's going to be the mid-point, right, because it's a straight line?  As long as your scenarios are equally on either side of your 100 percent, it's always going to be 7.9 million, isn't it?


MR. BROPHY:  Can you restate that, please?


MR. SHEPHERD:  Your average SSM for all of the scenarios, as long as they're equal-number scenarios on either side of 100 percent, the average is always going to be 7.9 million, the calculation at 100 percent; isn't that right?


MR. BROPHY:  So you're summing up the 5 percent of TRC proposal across those 20 ‑‑


MR. SHEPHERD:  Those various examples, yes.


MR. BROPHY:  The average?


MR. SHEPHERD:  Yes.


MR. BROPHY:  Okay, I would take that, subject to check.


MR. SHEPHERD:  Right.  But the average for the existing is going to change, depending on how many scenarios you have above or below the line, right, because obviously it only applies if you are above your target, right, your pivot point?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  Okay.  Will you accept, subject to check, that if you want to equate the proposed to the existing on average, over all of these scenarios, it would have to be at 2.85 percent?  A 2.85 percent flat SSM would have the same average as your existing SSM in these scenarios.  Will you accept that, subject to check?


MR. BROPHY:  I believe, and I think the reason we wanted the route of the undertaking is because that math didn't seem to really make sense when I did some quick calculations.


MR. SHEPHERD:  All right.  I'm going to ask you to go away and if you find that that figure is not correct, 2.85 percent, you will tell us.  Okay?


MR. BROPHY:  I can do that, yes.


MS. NOWINA:  That's part of the same undertaking.


MR. SHEPHERD:  Okay.  But, in fact, isn't it true, Mr. Brophy, that this set of examples, 10 percent to 200 percent, is really not very realistic, is it?  You're not going to get 10 percent of your plan, are you?  Not reasonably likely?


MR. BROPHY:  That's not what I hope to achieve, no.


MR. SHEPHERD:  And, in fact, in a normal year, you would typically be somewhere between 80 percent and 120 percent of your plan?  Those are sort of the rough boundaries; is that a fair assessment?


MR. BROPHY:  I believe that probably represents a range historically where we've sat.


MR. SHEPHERD:  Will you accept, subject to check, that in that range of 80 percent to 120 percent of the estimate you've given the Board, that the average -- the average SSM under your proposed method is 7.9 million and the average SSM on the existing method is 1.6 million?  I'm going to ask you to go away and check and see if that is correct, 7.9 million proposed, 1.6 million existing.  


MR. BROPHY:  We're getting deeper and deeper into a chain of complex math now that's building on each other, and it really doesn't seem appropriate, since I haven't had the ability to do even the first calculation that he's asked me to do, to now compound all of those calculations and start accepting that.  I'm having trouble with that.


MR. SHEPHERD:  That's fine.  You know what?  We'll just do the calculation in our argument.  It is math, so it's easy.


I'm more trying to get to the basic point, and I asked you the question at the beginning of this series of questions - this is why I'm going through the math - that one of the things your new SSM does is, it gives you an overall higher SSM than the existing method, isn't that right, in virtually every possible scenario?


MR. BROPHY:  It would depend on where the pivot point is set.  So if the pivot point is set at a certain level, it could result in more, and it could result in less.


MR. SHEPHERD:  Okay.  I'm going to put it to you that that is just not mathematically possible.  Let's go on to the next point.  You will tell us whether that is mathematically possible and you will give us examples in your undertaking; right?


MR. BROPHY:  One of the calculations I intend to do, yes.


MR. SHEPHERD:  Perfect.  Let's go on to the next question, and that is ‑‑


MR. BROPHY:  I think this demonstrates some of the difficulties with the pivot-point mechanism, that it's very hard to do these on the spot.

     MS. NOWINA:  Mr. Brophy, I have to say for us it is a very interesting calculation that we would like the undertaking on.
     MR. BROPHY:  Thank you.
     MR. SHEPHERD:  I'm just going to take you to the second page of that Exhibit 32.5.  This is -- we have a number of graphs of this already.  We have the distinction of having ours in colour which I think trumps the other intervenors.
     Would you agree, Mr. Brophy, that this correctly describes the difference between the old and the new -- sorry, the existing and proposed SSM under the scenarios that we've put on the previous page?
     MR. BROPHY:  It appears to do that, yes.
     MR. SHEPHERD:  Okay.  I'm then going to ask you to look at another document, if I can find it.  I think I provided this to Board Staff as well.  It's a single page spreadsheet, provided to you yesterday.
     MR. BROPHY:  I don't believe I have that.
     MR. SHEPHERD:  This was provided to the company yesterday.  It's right there.
     MS. NOWINA:  Do you have an exhibit number?
     MR. BATTISTA:  That will be Exhibit K32.6 and it will be titled:  "Comparison of SSM mechanisms".
     EXHIBIT NO. K32.6:  Comparison of SSM mechanisms
     MS. NOWINA:  Yes, Mr. Battista, isn't that more or less what we called the first one?
     MR. BATTISTA:  The first one was: comparison of S and P – something, I can't read my writing.  The other one was: comparison of existing and proposed SSM mechanisms.     

MS. NOWINA:  Okay.
     MR. BATTISTA:  They're different data sets.
     MR. SHEPHERD:  It's different data sets.
     MS. NOWINA:  I understand that.  It’s just the title I’d like.  That’s how we’ll differentiate.  We won't go to blue and purple as opposed to blue and brown.  

MR. BATTISTA:  We’d have to re-title the slides.
     MR. O'LEARY:  Mine is black and white, Madam Chair.
     MS. NOWINA:  There you go, so colours won't work.  
     MR. O'LEARY:  Black and gray.
     MR. SHEPHERD:  This is to deal with the second point.  The first point is the overall level.  The second point, then, is the shift in the SSM.  Your new proposal - correct me if I'm wrong - your new proposal shifts the balance of the SSM so that you get higher SSM at lower performance levels, and lower SSM at higher performance levels, isn't that right, relative to each other.  Isn't that the intention of your SSM proposal?
     MR. BROPHY:  The intention of the SSM is to share in benefits along the continuum.  I don't think it was designed to make less, or greater relative to a ...     

MR. SHEPHERD:  So I'm going to ask you to look at K32.6.  I can tell you that K32.6 sets the new proposed SSM at 1.9 percent.
     So that the average of them, over the various scenarios on this page, is identical to the average of the existing SSM calculations.  The two averages are the same.  We have corrected for the level difference, and all we have is the balance difference.  Do you understand that?
     MR. BROPHY:  Not really.  Maybe you could restate it and I will try and --
     MR. SHEPHERD:  We took the new SSM which, in all cases, is higher than the old one and we moved it down so that the average new SSM is equal to the average old SSM over these scenarios; do you understand that?
     MR. RYCKMAN:  Mr. Shepherd, I thought you said before that was a percentage of 2.8 percent.
     MR. SHEPHERD:  No.  That was over all of them.  That was over 10 percent to 200 percent.  This is 50 percent --
     MR. RYCKMAN:  This is based on shall --
     MR. SHEPHERD:  This is a range of 50 percent to 150.
     MR. RYCKMAN:  Okay.
     MR. SHEPHERD:  We're actually trying to be nice to you because the percentage, if you go to 80 to 120 is 1 percent.
     MR. BROPHY:  When I looked at Exhibit K32.6, it looked to me to be the same graph as what's on 32.5, except the X-axis ended at 150 percent instead of 200 percent, but I'm suspecting that maybe that is not --
     MR. SHEPHERD:  No.  That's one difference, right, and the other difference is that the blue bars are set at 1.9 percent of TRC instead of 5 percent.  Do you understand that?
     MR. BROPHY:  Oh, okay.  I see that.
     MR. SHEPHERD:  The result is, will you accept, subject to check, the average of the blue bars is the same as the average of the red bars.

MR. BROPHY:  Can I get the -- I can take it, subject to check, but can I get the actual numbers?
     MR. SHEPHERD:  I will give you the data set.
     MR. BROPHY:  Okay.
     MR. SHEPHERD:  Okay.  So assuming that is correct, then isn't it true that what this shows graphically is, that at lower performance levels the new -- the proposed SSM gives you more, and at the higher performance levels, the proposed SSM gives you less?
     MR. BROPHY:  But you're using instead of 5 percent you’re using 1.9 percent?
     MR. SHEPHERD:  That's right, that's right.
     MR. BROPHY:  So using the 1.9 percent example that appears to be correct.  Yes.
     MR. SHEPHERD:  Okay, thank you.  I guess my question is, that appears to be a shift in focus of the company; that is, that you're now not looking as much for excellence.  You're not seeking to be rewarded as much for excellence as you're seeking to be rewarded for lower levels of performance.  Is that a fair conclusion?
     MR. BROPHY:  I don't believe that that is true.
     MR. RYCKMAN:  That's not a fair conclusion at all.  We believe the proposed incentive mechanism does set up a structure that encourages the further pursuit of DSM.  And it's meant to be a sharing of the benefits along the continuum.
     Once again, when you look at any pivot point, whether it is 158 million if you want to use that as an example or whatever you used here, if you fall one dollar below that pivot point in terms of TRC, it really deems that no incentive is payable and for all intents and purposes, the program is a failure, and that is not accurate.  There are many -- there's significant benefits that are delivered along that continuum and once again it is net benefits.  So this is after net of costs.
     So any benefits generated for society is a good thing and those benefits may shift over time as we have to venture down the road of program development and research and those sorts of things.  So I don't agree with that characterization at all.
     MR. SHEPHERD:  You have a performance bonus system at Enbridge?
     MR. RYCKMAN:  Yes.
     MR. SHEPHERD:  Right?  You participate in it, right?
     MR. RYCKMAN:  Yes, yes.
     MR. SHEPHERD:  You have targets.
     MR. RYCKMAN:  Yes.
     MR. SHEPHERD:  If you miss your target, do you get your bonus?
     MR. RYCKMAN:  I still get paid for coming into work every day.
     MR. SHEPHERD:  But you don’t get a bonus.

MR. RYCKMAN:  I don’t get a bonus.
     MR. SHEPHERD:  Are there any targets where you don’t get a bonus if you don't meet it; a profit target, for example.
     MR. RYCKMAN:  Actually, for incentive compensation, I believe, starts to recognize payouts at 90 percent and above.

MR. SHEPHERD:  So if you get 90 percent of the ROE target, you get a bonus?
     MR. RYCKMAN:  I can't speak to that specifically.  I don't have a ROE target.
     MR. SHEPHERD:  Okay.
     MR. RYCKMAN:  But the point is that I'm also compensated for coming into work every day, so from the shareholder perspective, if they deliver 140, 145 million instead of 150 million they don't get any recognition for those considerable benefits under a pivot-point mechanism.
     MR. SHEPHERD:  So then that is the essence of your new proposal, you want to change it from a bonus mechanism to basically, like, salary-type thing, where the shareholder simply gets paid for doing DSM; right?
     MR. BROPHY:  I believe that the intention of the incentive in the shared-savings mechanism was not a bonus.  It was meant to reward the company for results and I believe that is one of the characteristics that the Board approved behind that mechanism.
     So as Mr. Ryckman said, he does get paid to come in and to work every day, whether or not he gets a bonus.  And this scenario, if you have a pivot point, you could have two companies, one which delivers 50 million in net benefits to ratepayers, and one that delivers $100 million to ratepayers because their pivot points have been set differently as generally has been the case for Union and Enbridge, and maybe others.
     And one company could get a reward, or either a reward or a higher reward for achieving 50 million in net benefits to ratepayers, where the other one, that achieved 100 million either gets a lower reward or doesn't get any reward.  So if you're looking at rewarding a company to provide benefits to ratepayers, what Mr. Shepherd has just walked through doesn't make any sense.


MR. SHEPHERD:  Let me turn to the question of 3 percent versus 5 percent.  Last Thursday I thought I heard you, Mr. Brophy, in discussions with Mr. Warren, to say that you never ‑‑ the company never actually proposed a 3 percent flat SSM.  As you know, I was at that meeting and a number of other people who were in the room last Thursday and are listening now were in the meeting.  I know that can't be what you meant, that you never proposed 3 percent.


So I'm sure I misunderstood.  Can you just clarify that for us?


MR. BROPHY:  Thank you for the opportunity, because I know Mr. Bourke, I believe, maybe had talked to you and maybe one other party.  And when we did the strategic plan presentation in December 2004, I believe I made it clear - and I tried to make it clear in that meeting - that it was a strategic plan and that it was the concepts we were talking about.  And I used the 3 percent as the basis for describing how a percent of TRC might work.


But I understand that some of the intervenors took that as that the detailed implementation plan details that we're going to be proposing go forward.  And I have to take responsibility if that was what people ‑‑ some people took away, because I tried to make it very clear that it was at a strategic level to describe the concepts, not to get into all of the implementation detail, but I do take responsibility if people misread that.


MR. SHEPHERD:  In December 2004, did your group make a presentation to senior management?


MR. BROPHY:  On which date, sorry?


MR. SHEPHERD:  December 2004, at the time that the rate case budget was going on, you were one of the groups that had to make a presentation to senior management; right?


MR. BROPHY:  I personally did not, no.


MR. SHEPHERD:  Did the DSM group make a presentation to senior management?


MR. RYCKMAN:  In terms of the budget presentation?


MR. SHEPHERD:  Of what your plan was for 2006.


MR. BROPHY:  I don't believe we went through the plan with senior management, because as we know through this proceeding, there is so much detail.  I think generally they trust us to make the right choices on that.


MR. SHEPHERD:  Well, we heard evidence, with respect to capital expenditures, that in December the various senior managers made presentations to their vice presidents on what their plan was for the test year, for the 2006 year.  You did that, too; right?


MR. BROPHY:  Yes.  So there's a capital and O&M types of budgeting and some presentations that would generally be done.  I think you have gone through that.


So the number that's in the plan that we filed, the budget would have been included within that general envelope somewhere, but I think there is generally a recognition that coming out of, be it settlement agreement or Board's decision, that there may be variation from that.  So I think everybody understood that that number may change.


MR. SHEPHERD:  Well, no.  I guess what I'm ‑‑ we're still talking about SSM here, and what I'm trying to find out is whether the 3 percent flat SSM was presented to your vice president, Mr. Luison -- was that Mr. Luison at the time?


MR. BROPHY:  I'm trying to remember the time.


MR. SHEPHERD:  Or was it Mr. Pleckaitis?


MR. ROSS:  I think we would have been at a point of transition, so I would have to think that there would be an awareness with both of them around budget amounts and planning, but probably to a lesser degree with Mr. Luison, because he was just coming in at that time.


MR. SHEPHERD:  I'm asking a simpler question.  You had a number of 3 percent flat SSM in a presentation to stakeholders.  That number, at that time or around that time, was it presented to anybody at a vice-president level or higher?


MR. BROPHY:  I believe that I ‑‑ I'm trying to remember, because that was some time ago.  But I think it was after that presentation I would have mentioned that we're looking in the range of 3 to 5 percent, something in that area.  But I think my discussions generally were that we're going forward with a percent of TRC and wanted to make sure that he was comfortable with us going and building up the material for the evidence on that.


MR. SHEPHERD:  Well, here is what I'm driving at, Mr. Brophy.  We heard evidence, with respect to capital expenditures, that in December the senior managers had a number for capital expenditures, and then we heard evidence that in January and February, the EMT got a hold of that number and at the end of their process it was a lot higher.


I'm trying to figure out whether that is the same thing that happened to your SSM; you had a 3 percent number in December, and by February, after the EMT had gotten hold of it, it was 5 percent.


MR. BROPHY:  I wasn't here for the other parts of the hearing, but I think I'm understanding kind of the process you're suggesting.  And when we were putting the actual implementation plan details together which were to be filed, I believe that I was using the 5 percent as of that time.  So there wasn't a change ‑‑ I didn't go to them with an implementation plan, and then get instructed to change that, if that's what you're asking.


MR. SHEPHERD:  Well, isn't it true that you went to your vice president and said: We're going to propose 3 percent.  And he said to you -- isn't this true?  He said to you: The electric LDCs have 5 percent.  Why aren't you asking for 5 percent?


Did that conversation happen or not?


MR. BROPHY:  I don't believe what you've just said happened.  I think, as I said, we discussed a percent of TRC.  I'm sure I probably described that I had put 3 percent in the presentation, the consultative, as a discussion for strategic purposes.


And I think the entire DSM team agreed that when we came to the time to writing the actual implementation plan, which was the details of really what the plan is, that we were going to use 5 percent.


MR. SHEPHERD:  Was 5 percent proposed internally in your group, or was it proposed by senior management?  The first time it was proposed, was it internally or by senior management?


MR. BROPHY:  I think I always believed that 5 percent was an accurate ‑‑ so I've always been an advocate of the 5 percent number.


MR. SHEPHERD:  Okay.  I want to turn to your Energy Star market transformation incentive.  I just have a simple question on that.


You're planning to try to get some windows currently in the market, that are not Energy Star qualified, re-labelled as Energy Star; right?


MR. BROPHY:  That's not the intention of the program.


MR. SHEPHERD:  No, no, no.  But I'm asking, that's one of the things you want to do; right?


MR. BROPHY:  The intention of the program is to get Energy Star windows to remove barriers and to have it more broadly known as the benchmark for energy-efficient windows, because I think I've stated before that there really are no well‑known standards out there for the average person to go and buy an energy-efficient window.


So the intention is to remove those barriers and hopefully get more of those types of windows out into the marketplace.


MR. SHEPHERD:  It's a much simpler question than that.  There are certain windows that are in the market right now that are not Energy Star labelled that you think should be Energy Star labelled; is that right?


MR. BROPHY:  That may be possible.


MR. SHEPHERD:  If you succeed in getting them labelled as Energy Star windows, does that count to your market transformation goal?


MR. BROPHY:  The ones that are in the marketplace now, that's a benchmark against which we're measuring our success as we roll out this program.


So the ones that are in the marketplace right now, if they did meet Energy Star and they're not labelled, we don't get credit for those.  We only get credit for the ones that we're ‑‑ that are happening since that benchmark was established.


MR. SHEPHERD:  Perfect.  Let me then turn to ‑‑


MS. NOWINA:  Mr. Shepherd, did that answer your question?


MR. SHEPHERD:  Yes.  I think ‑‑ correct me if I'm wrong, Mr. Brophy, but tell me whether this is correct.  If you get windows re-labelled, that doesn't account as an increase in market share for Energy Star, does it?


[Witness panel confers]


 MR. BROPHY:  If there are windows that have not been qualified as Energy Star, but they could be, then they're not currently counted in the baseline against Energy Star.

     So if we can convince those manufacturers to move to the Energy Star system so that consumers get -- that barrier can be removed from consumers taking up Energy Star windows, then we would include the portion of the windows that get relabelled.
     And I think there is also examples right now of people that are saying they have Energy Star, because this is a fairly recent thing in the last year that we've started investigating based on the 2005 settlement agreement, that there are some manufacturers that are saying that they meet them but actually don't.  So it is actually working both ways, where they might be selling somewhere, where they think that they're meeting it and they really don't.
     MR. SHEPHERD:  So -- thank you, Madam Chair, I very much appreciate that intervention.
     So then what you're saying is, is if the only change in the market was that the existing windows were relabelled as Energy Star, you would get an incentive?  That was the only change?  

MR. JEDEMANN:  If I might add.  That's one of the changes required.
     Another change is acceptance of the market.  The greatest opportunity for Energy Star windows is in the new construction market sector.  There are -- very, very few builders install, free of charge, energy-efficient windows, be it Energy Star or windows that have whatever level of efficiency built in.

Another major challenge for us as a company, one of my program managers, in working with window manufacturers and builders, and the public is educating the public, first of all, on the benefits of going to a builder and having the knowledge and awareness to even ask about energy-efficient windows, Energy Star windows for that matter.  That is something the public can relate to if they go into an appliance outlet, they see a dryer on the floor, they see Energy Star logo on that and that gives the public an awareness of the quality of the product and the product meets certain specifications.
     Our other challenges are with the builder market sector, trying to convince the builders that this is right thing to do to put energy-efficient Energy Star windows in their homes
     MR. SHEPHERD:  Let me stop you there for a second because, again, my question is a much simpler one.  Let me give you an example:  Acme Windows in 2005 sells 10,000 windows, no EnergyStar label.  In 2006 they also sell 10,000 windows but you've managed to convince them to put an EnergyStar label on them.  Same windows.
     MR. JEDEMANN:  Yes.
     MR. SHEPHERD:  In 2006, you count that as an increase in Energy Star windows; yes or no?
     MR. JEDEMANN:  Yes, we will.
     MR. SHEPHERD:  That's the question.  Thank you.
     MR. JEDEMANN:  We will count those windows because just because those windows were labelled doesn't mean that those windows will end up in a new construction home in the marketplace.
     MR. SHEPHERD:  Okay.  I get you.  That answers the question you asked, Madam Chair?
     MS. NOWINA:  Yes, yes.
     MR. SHEPHERD:  Let me move to my second-last area, I think it is, which is electric LDCs and the related issue of attribution.
     What you're proposing as I understand it, this is one of your approvals, you're going to start doing electricity DSM in partnership with electric LDCs, and you're proposing to, whatever revenues you get from that, this is sort of like a consulting business, right, you get paid by the electricity LDC to help you, to help them.  Whatever revenues you get, you will split 50/50 with the ratepayers; is that roughly what you're proposing?
     MR. RYCKMAN:  It's not a consulting model at all.   What we're proposing is where there is opportunity to piggyback electric measures on to our existing program we would pursue that.  It’s not a consulting model that is being proposed.
     MR. SHEPHERD:  So you could take a program like TAPS and, say, Toronto Hydro:  Toronto Hydro, here is a program, we've already figured out how this works.  We've already figured out the best way to deliver it.  We'll let you use it, too, and you can give us a piece of the action in effect; is that right?
     MR. RYCKMAN:  The thinking, when we ventured down this road, was that it could be a win, win, win, if you will; win for all stakeholders.
     So where there is an opportunity to add, in the example you used, TAPS, where there is an opportunity to have compact fluorescent lamps delivered at the same time, it's a win for the customer because it is increased value for the customer.  It's increased value for the electric LDCs because they now have access to quicker results that are cost effective and more cost effective than them creating that infrastructure themselves.  We proposed the 50/50 sharing because we felt that that was a way to provide a win, if you will, for ratepayers.  And then 50 percent of the net benefits for the shareholder.
     Once again, what we're trying to do is be innovative and use some of the existing mechanisms to further conservation.
     MR. SHEPHERD:  Of course, we support that 100 percent, but I'm trying to understand the mechanics.  Not the principle.  The principle is a wonderful one: let's all work together and have more conservation. Great.
     MR. RYCKMAN:  Yes.
     MR. SHEPHERD:  What are the revenues that you're proposing to split?  How are you going to get revenues out of this?
     MR. RYCKMAN:  Mr. Brophy.
     MR. BROPHY:  I will just walk you through the process I see, although once we get into the rooms with LDCs it may vary a little bit.  But I would see us sitting down with a LDC, walking through a program.  And they would either have to already understand what the program is and how we deliver it or else we would be explaining that kind of model.
     We would discuss with them what an appropriate revenue would be based on certain commitments of delivery there.
     MR. SHEPHERD:  No.  No.  No.  Hang on, let me just stop you there.  So then the revenues are something that the electric LDC would pay EGD.
     MR. BROPHY:  That's correct.
     MR. SHEPHERD:  So they would pay you like a fee or something like that to help deliver their program?
     MR. BROPHY:  Generally speaking.
     MR. SHEPHERD:  Okay.  Go on.
     MR. BROPHY:  And then, so then we would move forward and execute an agreement.  Within that agreement would have to be how those benefits are allocated.  And then we would go out and deliver that.
     MR. SHEPHERD:  Let me stop you again there.  So Toronto Hydro, let's say, agrees we're going to pay you $10 million a year to help us deliver the famous widget program.  And so you get that $10 million, now you're going to help them deliver the program how?
     MR. BROPHY:  So we'll use the TAPS example again, just to try to --
     MR. SHEPHERD:  I prefer widgets but, hey, TAPS are good too.
     MR. BROPHY:  I was getting lost on the last widget example.  So for example, I think we indicated that we -- right now we have a business partner network and a 

well-defined program where we go door-to-door to deliver showerheads, faucet aerators, insulation, that type of thing, and I believe thermostats as well.
     So right now, when we go -- our business partners go to a door, and it's gas water heating; they deliver the program on our behalf.  They go to the next door and it's an electric water heater customer.  Right now as soon as they find that out from the customer, they move to the next door, because we're not -- we don't have a program that delivers that to the electric water heater.
     So what they would then do is, if we have an agreement on that program, then they would actually not walk away.  While they're there, they would deliver things like the showerheads, and the pipe wrap and the aerators and that type of thing to the electric water heater home, and that Enbridge would then recover the costs related to that.  So for all the showerheads, and aerators and the costs for delivery from that electric LDC, and anything that's left over there would be net revenue after you take the costs.
     MR. SHEPHERD:  So let's say Toronto Hydro pays you $100 a home for each one that you implement electricity TAPS; right?
     MR. BROPHY:  Yes.
     MR. SHEPHERD:  And your cost is $80.  So then the net revenue is the $20 that you have left over.
     MR. BROPHY:  Yes.  So if that occurred, then net revenue would be $20.  Ratepayers would get $10, I believe, and the company would get $10.
     MR. SHEPHERD:  Now, the only costs that are being recovered out of that payment from Toronto Hydro are the incremental costs; right?  The basic costs of the program, your gas ratepayers are paying the whole cost of the program.
     MR. BROPHY:  We're recovering any additional costs above -- what we would normally do from the electric LDCs.
     MR. SHEPHERD:  Okay.  So my question on this -- I mean thank you for the mechanism.  I get that now.  I have two questions, then.  You're going to have an agreement with them as to how to split any SSM benefits; right?
     MR. BROPHY:  I hadn't anticipated putting in an agreement how we would share SSM benefits.  I think my intention is to ‑‑ well, actually, I think it is fairly easy to understand.


In the case of the TAPS program, you go to the gas ratepayer door.  We deliver our programs.  Those are our benefits as per our normal programs.  They go to the next door and it is electric water heater.  There's benefits that come from that because of the water heater.  I would see that that electric LDC would probably get those benefits.


So they're getting the benefits that they're paying for.  We're not splitting those.


MR. SHEPHERD:  Well, then you were talking earlier with the Chair about having agreements with the electric LDCs for how you would do attribution.  But what you're saying now is that they get 100 percent of the electricity savings?


MR. BROPHY:  In the case where an electric LDC retains Enbridge to deliver a program like TAPS, we're doing some incremental things like going to the electrically water-heating house and delivering that.  They would get those benefits.  So I would see that they're paying for those benefits and they get those benefits.


The example I used on coming to agreements with electric LDCs on how we share benefits was in relation to something like the Energy Star for new homes example that we went through where we're not delivering that program necessarily for LDCs.  We've brought an LDC to the table with other partners on a project and -- which is much different.  Hopefully, I'm able to differentiate the two.  


But in that case, we all have to be clear up front what benefits we're sharing, because if an electric LDC didn't come into the EnerGuide for Homes program, which Enbridge is already participating in, then Enbridge would be eligible for all of the benefits from that.  But if we do bring somebody like Ottawa Hydro to there, then we have to understand up front what their intention is to claim benefits so we're not double counting those.


MR. SHEPHERD:  Energy Star windows are a good example, because if you put Energy Star windows into a home, a new home, then you save gas because of heating and electricity because of cooling; right?


MR. BROPHY:  That's correct.


MR. SHEPHERD:  And so in a typical home, you would split it up between the participants based on the savings; right?  They would get the electricity SSM and you would get the gas SSM; right?


MR. BROPHY:  Perhaps Mr. Jedemann may be able to add on to this, but the Energy Star windows example actually is, I think, a poor example, because we don't have a normal Energy Star windows program that we count in our TRC incentive.  It's a market transformation program, so that's ‑‑


MR. SHEPHERD:  No.  Mr. Brophy, we're just getting to the concept.  That's all.  So let's pretend you have ‑‑


MR. BROPHY:  Okay, if we did.


MR. SHEPHERD:  It's market transformation.  But if it were a program, that's how it would work; right?  You would split it up.  You would get the gas savings and they would get the electric savings; right?


MR. BROPHY:  I believe that would probably be the way we would pursue that.


MR. SHEPHERD:  Okay.  So then my last question on that point is this:  We heard, and you may not ‑‑ sorry.


[Witness panel confers]


MR. BROPHY:  Sorry.


MR. SHEPHERD:  We heard over the last couple of weeks, and you may not have been listening, but we all heard a whole discussion from the company's witnesses about how the company's undertakings prohibit it from doing certain things, like, for example, owning its own bill and allowing others access to the bill.


So are you aware of that issue, the limits that the undertakings placed on the company? 


 MR. BROPHY:  I have some understanding of that, but I'm certainly not an expert in that.  I do understand that there is a carve-out from that for Enbridge to deliver DSM, which includes electricity and water.


MR. SHEPHERD:  So your view is that the undertakings don't limit you in offering electricity conservation services to LDCs; right?


MR. BROPHY:  We're delivering electricity and water savings today, but I believe that the reason we've come forward in this application, to put it clearly in front of the Board, is that if there is any concern over that, that the Board would let us know.  But I don't know if those undertakings restrict us from that.


MR. SHEPHERD:  Okay.  Are you aware of any discussions that EGD has had, either internally or externally, about outsourcing its DSM function to an affiliate?


MR. BROPHY:  You mean above and beyond our existing channel partners ‑‑


MR. SHEPHERD:  No, an affiliate.  I'm talking about outsourcing to an affiliate.


MR. BROPHY:  Of our DSM programs?


MR. SHEPHERD:  Yes.


MR. BROPHY:  I'm not aware of that.


MR. SHEPHERD:  You're not aware of any discussions that have been had in that regard?


MR. BROPHY:  No, I'm not.


MR. SHEPHERD:  Thank you.  Then my last area is - and this will be a short one, I hope - is climate change, emissions offsets.  I have an exhibit.  


MR. BATTISTA:  That will be Exhibit K32.7, and it will be titled as:  Offset System for Greenhouse Gases, Government of Canada, Overview Paper.

EXHIBIT NO. K32.7:  OFFSET SYSTEM FOR GREENHOUSE GASES, GOVERNMENT OF CANADA, OVERVIEW PAPER

MR. SHEPHERD:  Who do I ask these questions to?  Is it you, Mr. Brophy?


MR. BROPHY:  We can proceed that way, and then if --


MR. SHEPHERD:  You will be the primary recipient?


MR. BROPHY:  Yes.


MR. SHEPHERD:  You've seen this document before?


MR. BROPHY:  Well, I received it from you.  I don't believe I had seen it prior to that.


MR. SHEPHERD:  It's true, isn't it, that the Government of Canada is proposing a tradable CO2 emissions offset system; isn't that right?


MR. BROPHY:  I believe that's correct.


MR. SHEPHERD:  And that that's supposed to start in 2006?


MR. BROPHY:  I believe that might be correct, yes.


MR. SHEPHERD:  And that under that ‑‑ if you look at page 1 of this document, which is actually the third page, but it's numbered page 1; do you see that?


MR. BROPHY:  Yes.  The introduction page?


MR. SHEPHERD:  Yes, the introduction page.  If you look at the third bullet around the middle of the page, it says, and I quote:

"One of the entities that can get offsets is electricity or gas utilities that implement demand-side management programs that reduce energy consumptions by their customers."


Were you aware that EGD would be eligible for offsets?


MR. BROPHY:  I was aware that those types of things were being considered, but I see up top, before the bullets, it says, "potential offset projects", and it says, "for example".  So I don't think it's been decided whether that's going to happen, or not, but that's certainly one thing that is in the discussions going on.


MR. SHEPHERD:  This is proposed to start in 2006; right?


MR. BROPHY:  I believe that that's the current proposal.


MR. SHEPHERD:  So that's the test year.  So if this current proposal goes ahead, then you will be entitled to emissions offsets; right?


MR. BROPHY:  I think they're doing consultation as we speak until the end of the year, but if they do decide that that is included and that companies like Enbridge are actually entitled to those things, then that could be true.


MR. RYCKMAN:  That's an important aspect, as well.  On page 4 of that document, one of the last things on that talks about ownership, and there must be clear legal ownership with the greenhouse gas reduction for removals achieved from the project. 


So I think, once again, this is a proposal and there are also questions of ownership.  So I don't think we're in a position to say that we have offsets available to us.  We don't know what will be available to us.


MR. SHEPHERD:  Under your current proposal for your DSM programs, you expect to save 84.4 million cubic metres in the test career; is that right?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  Will you accept, subject to check, that if you want to convert m3 into CO2 offsets, it's about 540 cubic metres per ton?  Will you accept that subject to check?


MR. BROPHY:  I think it is in that range.  I think the current numbers that I've been referred to are the Canadian Standard Association registry, which is using 526 m3, but it's in that ballpark.


MR. SHEPHERD:  I was using the World Bank document, but they're all in that range; right?


So am I correct, then, in estimating that for the test year you expect to around 150,000 tons of CO2 offsets?  Is that in the ballpark?


MR. BROPHY:  There are about 160,000; is that what you said?


MR. SHEPHERD:  150, 160,000, like that.


MR. BROPHY:  Somewhere in that area, yes.


MR. SHEPHERD:  Okay.  Then that would be higher in the second year of your plan and higher in the third year of your plan; right?


MR. BROPHY:  The amount of ‑‑ if you use that math, then the volumes would make that higher.

     MR. SHEPHERD:  There is a current -- one of the proposals is that you be allowed to reach back to previous years; isn't that right?
     MR. BROPHY:  I think that is in the discussions as well, going on.
     MR. SHEPHERD:  Now, I'm going to ask you to -- you don't need to turn this up.  I will read it to you.  This is an exchange between myself and Mr. Neiles who -- he was the vice president of your company and a member of your EMT; right?
     MR. BROPHY:  I believe he is, yes.
     MR. SHEPHERD:  This exchange, which is -- which I don't actually have cited - I will give you the cite later - but I'm reading it from my notes.  I don't actually have it in front of me, what the cite is, is the following:  

"If EGD is able to reduce its emissions and

therefore get tradable emissions credits, those

emissions credits, the value of them will accrue

to the benefit of the ratepayers; is that

correct?
     Mr. Neiles:  Yes."

Were you aware that this is the company's position?
     MR. RYCKMAN:  Is there a transcript reference?
     MR. SHEPHERD:  Yes, I’m sorry, it’s not in my notes.   I'll get it for you later.  
     MR. BROPHY:  Actually, I was doing a bit of homework, because I think you had indicated you might want to ask questions there.  So I actually -- I do have a piece of the transcripts.  I think it is what you're referring to on page 98, line 25.
     So it had Mr. Neiles, according to the copy I have, it says:

“Any emissions directly associated with the

operations or infrastructure of Enbridge Gas

Distribution, which can be managed in this way so

as to reduce exposure to some of the 2.4 million

..." it goes on.

MR. SHEPHERD:  That's not the same quote.  Will you accept what I am reading, rather than having me go find the transcript reference?
     MR. BROPHY:  Well, with the only caveat that what I've seen here is he's relating it to operations and infrastructure of Enbridge Gas Distribution.
     MR. RYCKMAN:  I would like to see the transcript, just to make sure it is taken in context.
     MS. NOWINA:  Mr. Brophy, could you give me the transcript reference that you referred to?
     MR. BROPHY:  I'm hoping this is printed out right.  But I have a page 98.
     MS. NOWINA:  Do you have a volume?
     MR. SHEPHERD:  I have it, Madam Chair.
     MR. BROPHY:  Do you know what volume it is?
     MS. NOWINA:  I also want the quote that Mr. Brophy referred to.
     MR. SHEPHERD:  Volume 10, that’s day 10, page 112.
     MR. BROPHY:  The one that I was looking at, I believe is page 98, at the very bottom, if that -- it reads the same.
     MS. NOWINA:  Yes.
     MR. SHEPHERD:  So on page 112, do you see where the question and answer are that I'm referring to?
     MR. BROPHY:  Which line are you referring to?
     MR. SHEPHERD:  I don't have the transcript in front of me.  It starts out, I'm saying, "If EGD is able to reduce its emissions --"
     MS. NOWINA:  That's line 6, Mr. Shepherd.
     MR. SHEPHERD:  Thank you.  

" -- and therefore get tradable emissions

credits, those emissions credits, the value of

them will accrue to the benefit of the

ratepayers; is that correct?
     Mr. Neiles:  Yes."

MR. BROPHY:  If you take that in context to the paragraph that I -- or the quote that I gave, I believe that looks true.
     MR. SHEPHERD:  It's correct, isn't it, that if you achieve 150,000 tons of CO2 reductions in your DSM programs, that's going to be somewhere between three and ten million dollars of credits; right?  At the current values that people are talking about for -- that's the range we're talking about isn't it.
     MR. BROPHY:  What value are you using?
     MR. SHEPHERD:  I'm using $15.
     MR. RYCKMAN:  What is not clear to me is “… will accrue to the benefit of ratepayers.”  

Once again, if ownership is undetermined at this point in time, I’m not clear on whether that would flow through rates if that’s -- was Mr. Neiles’ understanding or what he was trying to convey or whether it would flow to the end-use customer.
     MR. SHEPHERD:  That's why I'm asking the simple question.  I'm trying to get to the bottom of this issue.
     If EGD is the owner of the credits, does that mean it reduces rates?  Or does that mean the shareholder gets them?
     MR. RYCKMAN:  We haven't contemplated that in the context of DSM plans so I can't speak to that. 

MR. SHEPHERD:  Okay.  So then, what Mr. Neiles is talking about, he's not talking about the credits that you would get from your DSM plan?
     MR. BROPHY:  I believe the quote I gave on page 98, it was in regard to operations.
     MR. SHEPHERD:  Okay.  So do you believe that it would be appropriate for this Board to order establishment of a variance account, a variance account in which to credit any such offset revenues in the test year so that the Board can then deal with who owns them later?  Would that be appropriate, do you think?
     MR. RYCKMAN:  I wouldn't be able to comment on that without a more fulsome discussion internally with other individuals in the organization.
     MR. SHEPHERD:  Madam Chair, those are our questions.  Thank you.  Sorry for going a little long.
     MS. NOWINA:  Thank you, Mr. Shepherd.
     That completes our proceeding for today.  Tomorrow we will continue, I believe, with Mr. DeRose at 9 o'clock.
     We are now adjourned until tomorrow morning.
     --- Whereupon the hearing adjourned at 4:10 p.m.
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